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® Rabbit Rabbit

® Rabbit flash memory
° 1,000 50,000 C Rabbit
° Z80 7180 Rabbit
° 10 CPU PROM
° /
o Rabbit
2 Rabbit
Rabbit Z80 7180 CPU CPU Z80 7180
Rabbit Z180
“ Rabbit  Z80/7180 8 Z80
Z180 Rabbit
Rabbit
Z80/2180 Rabbit Rabbit
Rabbit DMA DMA
C Z80 C 16
8 number-crunching
Rabbit
Rabbit Rabbit
2.1 Rabbits8 16 32
8 Rabbit 8 8 Rabbit 8
16 Rabbit 16
Rabbit 32 Rabbit
32 Rabbit 1 32 RISC
32

2.2

/ 1/0



2.2.1

Rabbit 4 A B C D
1/32 7 8
2180
RS—485
UART( ) Z180
Rabbit
B
Rabbit
1/4 29.5MHz 7,375,000bps
A Dynamic C
2.2.2
1.8MHz ~ 29.5MHz
2 8
32.768kHz
1
1.
MHz v mA mw MHz v mA mw
25.0 5.0 80 400 6.0 2.5 10 25
12.5 5.0 40 200 3.0 2.5 5 12
12.5 3.3 26 87 1.5 2.5 2.5 6
6.0 3.3 13 42 0.0032 2.5 0.054 0.135
2.2.3 /
32.768kHz 32.768KHz 48
RTC
100 32.768kHz
A
2.2.4 170
5 A E 8 40 /
E
Load Data
1 oad Clock Port Output

Timer Clock |



2. D E
1/0
2.2.5
Rabbit Rabbit CPU
A
Rabbit 1/0
3
3
:' _____ Rabbk — 7 T T T T 7 ':
| |
' - - - '
Master | . I
Processor I Input Register CPU I
I Output Registers |
| |
| |
| - e e e |
| |
Control I Slave Interface Registers |
L - - — . . . = = = A
3.
Rabbit 1/0
attention line
2.2.6
Rabbit 16 32.768KHz
488U s A 8
1 256 4



B event
4 Rabbit
B I
S —— | |
Al P
perclk /2 [ |
r A5
Timer A System Ab
AT P
_I 10-bit counter
compare
8 J €10 bits g M
Timer B System match reg Timer Bl
next match
A Timer_B2
match reg
next match
4 _Rabbit
2.3
Rabbit

2.3 1



Rabbit

PC

Rabbit

2 3 2
Rabbit

2 4 Rabbit

Dynamic C

BI0S

3 Rabbit
3 1
Rabbit

Z80 R

PC
Rabbit

BI0S(
Rabbit
Rabbit

C

Z—\World

Rabbit

Z80 7180
EIR  Z80

PC

ucC/0s-11

“ Rabbit "
2mm
Rabbit Rabbit

BI10S BI0S
Windows95/98  Windows NT
Rabbit
10 Dynamic C
Rabbit C
5 Rabbit XPC
IR
IR

PC

IP



| A F
B L
> | =
B c
(x| 7
S iR
> | ®
S
Alternate Registers

[
8 / 16 bit | Y
Tegisters | gp
| e
o~

Sz [=[=[vI=]c]

F - flag register layout
S-sign, Z-zero, V-overflow, C-camy
Bits marked "x" are read/write,

A- 8-bit accumulator

F - flags register

HL- 16-bit accumulator

IX, IY - Index registersfalt accum’s
SP - stack pointer

PC- program counter

XPC - extension of program counter
IIE. - internal interrupt register

EIR external interrupt register

IP - interrupt priority register

Rabbit Z80/7180

16 HL 16
HL

F

POP AF PUSH AF

POP AF
IX 1Y HL
Rabbit 1
LDP
1
P
Rabbit 780/7180
HL’ DE’ BC’

5_Rabbit
A 8 8 ADD  AND
16 ADDHL DE 16 DE 16
X 1y HL
flag register
4 / PUSH AF
/ Rabbit
index register
64K
64K Rabbit
alternate registers
ex af,af AF AR EXX HL DE BC
Z80

Rabbit



IP 2 Rabbit
4 Z80 7180
3 2
“ 16 20 " Rabhbit 64K
Rabbit 16 X, 1y .,
SP 16
Rabbit 16 32
16
C
Rabbit 7180 6
Memory Memory
“ & Memory
Processor  fag—m Mapping ™| Interface i Chi :
. ~ ] ps
16 Unit 20 [nit
bits bits 20 bits plus control
6.
16 20 16 LDP
65536 3 16 1
16 4
16 20 8 8
16 4 20 16
20 16 4 SEGSIZE
SEGSIZE 8
4
4 7
flash
4K XPC

XPC



85 P register
& STACKSEGTegicta
= DATASEG regicte
10000
HrC
ET= T
E00 —
I D000 "
data segherdt
]
SEGSIEE
Tegister
I 7000
oot cegtnerd
000D
16-hit
address cpace
7.
A18 A19
/CSO /CS1  /CS2
20
control register
512k*8  flash 20
/0EQ

20

N\

(

20-bit
address cpace

/0EQ/QE1

/CS

256K

10000

0E0

93000

0oa0on

D000

oroog

20000

oroog

00000

/0E

512K

/WEO/WE1
/WE

Al6

bank

/CSO  /WEO



Optional Alb inversion
{not presently supported by Dynamic C)
. Albin Al6
Axxin—{from processor 4_)% Address lines output
Axx—out from memory
control unit Al9%n ___j ALD
Address lines not shown Al8in - AlS Alﬂb;::i:d};t:] ble
are passed directly. ﬁ%
Al%n D AL%n fCS0 memors
AlSin s control
/C82
Optional A19 inversion HER LY __ /OE0
'WEQ
Read/Write /OEL
Synchronization WEL
8.
3 21
Rabbit 1
16 7180
8086
64K 16
8086 CS
16
Rabbit 16 Rabbit
8K XPC 8 XPC
XPC 16
16 16
PC
XPC
XPC 8K XPC 4K
XPC FO00 4K
4K 9
FO00 4K XPC
24 8 XPC 16

8086

XPC

XPC



4K EO0O0+n FO0O+m m n

4096 8K 8K
XPC
XPC XPC XPC
XPC
32 20

Compiler notices that  Compiler insents
codehas passed FOOO,  longuomp in code.

10000
| HEC segment |
0 “\ : FO0D
Stack cegrert F
L0 Ed
bk % A
! ocalls
Drata segpnerd _‘,J rns Y -
XPC=N XPC=N+1
PC=FO00+K PC=B000+E+4
Roct segmant Mhusiration of sTiding XPC window
9.XPC
3 2 2
XPC 64K
40K XPC 8K 4K
12K
64K RAM
LDP 20
TCP/I1P



10

Stack Segrment

TUsed as data Stack seg-
/ window /men:r usad
l d for stack

Data Seg- o

P = _\_|\ mernt usad as f"'ff

data windoa

7

Stacksin
Data data segment Data
(RAM) (RAM)
Rootsg- .~ [ _ _ ]
ment mapped
Root to BLAN has
Code bn:jh mfé Root
Cogde ar
{flash) Code
data. (RAM)
Using Stack Se eut Using Data Segment for
for a Data Win a Data Window (Code must
be copied to RAM on startup.)
10.
RAM
RAM RAM RAM
12K
XPC
2 3
Rabbit flash /CS0 RAM /CS1
flash 128K RAM 32K Rabbit
Rabbit 1 250K 10,000-20,000

Rabbit



Rabbit

1
RAM
4K
3 3
o
o
o
®
o
® Push
® 16
° /
12
Rabbit
2180
2
1
72180
o
® 16
o
2180
®

Pop

Rabbit

Rabbit

44K flash  RAM
16
STACKSEG
RAM
4K
BUG 1/0 101
HL BUG
Rabbit  Z80/7180
Z80 7180 7180 1
3
Rabbit
3
mul——16*16
12 7180 Rabbit
16 IX 1y
16 16
Rabbit
M 7180
banking schemes

RAM

32K RAM

I10E

HL

64K



170 1/0

Rabbit Z80 7180

EX (SP),HL

Rabbit

LD A,3

LD HL,456

LD BC",3567 ; Z180
LD H",4Ah ; 7180
LD 1X,1234

LD C,54

LD A, (mn) ; mn 8
LD A*,(mn) Z180

LD (mn),A

LD HL,(mn) mn 16
LD HL®,(mn) ;

LD (mn),HL

DE BC SP IX 1Y 16

LD A", (mn) :
*%* LD (mn),D' ; *kkk
** LD (mn),DE" ; **** !

IX 1Y SP HL 16
8

1/0 170
19 “ Rabbit  780/7180 ?
Rabbit
2
Z180 7180
PC AF IP F PC
Z180
6 IX 1y
1
Z180



DE

LD A, (BC)
LD A", (BC)
LD (BC),A
LD A, (DE)
LD A", (DE)
LD (DE),A
8
LD r,(HL)
LD r",(HL)
LD (HL),r

A, B, C,D, E, H, L

** 1D (HL),rr ;*ee !

LD r,(IX+d)
LD r", (IX+d)
LD (IX+d),r
LD (IY+d),r

16
HL HL®

LD HL, (SP+d)
LD (SP+d),HL
LD HL, (HL+d)

LD HL", (HL+d)
LD (HL+d),HL
LD (1x+d),HL
LD HL, (1X+d)
LD HL®, (1X+d)
LD (1Y+d),HL
LD HL, (1Y+d)
LD HL", (1Y+d)

7180

d 0 255

d -128 +127

I=(HL+d), h=(HL+d+1)

IX -128  +127

IX -128  +127

8 AB CDEH L

LD A,C
LD D,B
LD E,L

Lb A" ,C
Lb D" ,B

Z80

-128

16

+127

HL

HL

HL’

HL

HL



rabbit ,4
LD d*,e"
16

LD dd*,BC ; dd* HL", DE", BC" 2
LD dd*,DE

LD IX,HL

LD 1Y,HL

LD HL, 1Y

LD HL,IX

LD SP,HL ;1 2

LD SP,IX

LD SP, 1Y

16 2

EX af,af" ; af  af”
EXX ; HL, DE, BC HL", DE", BC
EX DE,HL ; DE  HL

Rabbit

EX DE",HL ;1 2
EX DE, HL* ; 2

EX DE", HL® ; 2 4

Rabbit  7180/280 16
2 15

EX (SP),HL

EX (SP), IX

EX (SP), 1Y

6 PUSH POP
AF, HL, DE, BC, IX, 1Y
Rabbit Z80/7180

POP HL
PUSH BC
PUSH IX
PUSH AF
POP DE
POP DE"

HL

AF®, HL®, DE*®

BC*

LD



3 3
HL

POP HL®

7 16
16

Z180/780 16

BOOL

SBC

ADD HL,ww
ADC HL,ww
SBC HL,ww
INC ww

ALTD
ALTD

Rabbit

RR HL ;

RR DE
RL DE
RRIX ;
RR 1Y ;

AND HL,DE ;
AND IX,DE ;

AND 1Y,DE

IX

DE
IX
1Y

OR HL,DE ;1
OR IX,DE ; 2

OR 1Y,DE

0
BOOL HL
BOOL IX
BOOL 1Y
ALTD BOOL HL
ALTD BOOL 1Y

BOOL

16 IX 1Y

Z180/Z80

Ww

1Y

HL

HL

HL

SN

HL, DE, BC, SP

HL ADD  ADC HL
I1X
,1 2
, add HL,HL
1 2
, 4
2 bytes, 4 clocks
HL 0 BOOL
BOOL IX
0 1 HL
HL® "
1Y f*
SBC

7180/780 16
Rabbit 16

ADC HL,HL

HL

inverted



SBC

OR a

SBC HL,DE ;

SBC HL,HL ;

BOOL HL

SBC HL,HL ;

INC HL
reversed

SBC

+07FFFh

ADD HL,HL
CCF

RR HL

RL DE

CCF

RR DE

SBC HL,DE ;

SBC HL,HL ;

INC HL
BOOL

SBC
LD A,L
RLA

SBC A,A
LD H,A

MUL ;

BOOL
HL>=DE — HL DE 0-65535
C=0 HL>=DE c=1 HL<DE
HL boolean
C=0 HL 0, c=1 HL
C HL=1 HL=0
HL boolean
C=0 HL=0 C=1 HL=Ffff
C=0 HL=1 C=1 HL=0;
-08000h
OFFFFh
HL>=DE HL DE ;
HL>=DE
HL>=DE true boolean
-1
1 0
L HL
a 1
32
BC DE HL:BC

—1

Offfth

, 12

0000h



16

LD BC,nl

LD HL",BC ;

LD DE,n2
LD A,b
MUL

OR a

JR p,x1

ADD HL,DE ;

x1:

RL DE

JR nc,x2
EX DE,HL*®
ADD HL,DE
X2:

n# 15
0<n<16

3.3.8 /
Rabbit

1/0
1/0

16

32

BC HL*
BC
HL:BC
BC
BC
DE

HL

; HL:BC 32

2(16—n)

215

170

101 LD A,(85h) ;
LD 1Y,4000h
10E LD HL,(IY+5) ;

16
170

170

85h

1/0

1/0

4005h

1/0

32

BC

16

1/0
170

Rabbit 2000 BUG

170

16



ADC A, (HL)
ADD A, (HL)
AND (HL)
CP (HL)
OR (HL)
SBC A, (HL)
r 8
failure
1/0 E
1/0
1/0
1/0
Rabbit
6.57 C
3.4 -
3.4.1 HL
BOOL HL ; 2
RR HL ; 2
4
3.4.2
HL<->HL’ 8

EX DE' ,HL ; 2

EX DE' ,HL  ;
EXDE" ,HL ; 2
DE<->DE’

EX DE" ,HL ; 2
EX DE,HL ; 2
EX DE* ,HL ; 2

4

6

1/0 101 10E 12 HL
BUG 12

SUB (HL)

XOR (HL)

DEC (HL)

INC (HL)

LD r,(HL)

LD (HL),r

A,B,C,D,E,H L

LD (HL).r 1/0

1/0 1/0 1/0

NOP BUG

c BUG
NOP
0
) L 10

, 4 - 1
LD HL,0 6



IX,

BC<->BC’ 12

EX DE* ,HL ; 2
EX DE,HL" ; 4
EX DE,HL ; 2
EXX ; 2

EX DE,HL ; 2

1Y DE, DE

IX/1Y->DE / DE->IX/1Y

3.4.3
HL

3.4.4

;IX, IX --> DE

EX DE,HL

LD HL,IX/1Y / LD IX/1Y,HL

EX DE,HL ; 8 DE -—> IX/ 1Y
EX DE,HL

LD IX/1Y,HL

EX DE,HL ; 8

1 0 HL C C

—HL O 4 IX, 1Y 8
DEC HL ;1 00 -1
BOOL HL ; -1 1, 0 0. 4

——xor HL,DE HL/DE 1 0

ADD HL,DE
RES 1,1 ; 6 , 1 1+1=2

1 8 0— 255 16

0— 65535.

OR a ;
SBC HL,DE ; HL=A DE=B
A>=B IC
A<B C
==B Z
A>B IC & 1Z
A<=B Cv Z

HL B DE HL

16

SBC



; EX DE,HL ; DE<HL
OR a ;
SBC HL,DE ; C HL<DE
SBC HL,HL ; HL-HL-C -1 1
BOOL HL ; HL 1, 0
; 0
; HL>=DE DE>=HL — IC
; EX DE,HL ; DE<=HL
OR a ;
SBC HL,DE ; 1IC 1 HL>=DE
SBC HL,HL ; HL-HL-C 0 -1
INC HL ; 14 /7 16 SBC
; 0
; 0 C 1 IC 1
HL==DE
OR a ;
SBC HL,DE ; O
BOOL HL ; 0, 1
DEC HL ;
BOOL HL ; 12 - , 1
SBC
; HL>B B
LD DE, (65535-B)
ADD HL,DE ; HL>B 1
SBC HL,HL ; HL-HL-C —— 1 -1, 0
BOOL HL ; 14 - HL>B
; HL>=B B
LD DE, (65536-B)
ADD HL,DE
SBC HL,HL
BOOL HL ; 14
; HL>=B B 0
LD HL,1 ; 6
; HL<B B , 0¢( B==0 FALSE)

HL<DE

LD DE, (65536-B)
ADD HL,DE ; HL<B 0



SBC HL,HL ; 1 -1, 0
INC HL ; 14 - 0 ,
; HL<=B B 0

LD DE, (65535-B)

ADD HL,DE ; ~C HL<=B

CCF;C 1

SBC HL,HL ; c 1 -1 0

INC HL ; 16 -- 1,
; HL<=BB - HL==0

BOOL HL ; HL

- HL==B B
LD DE, (65536-B)
ADD HL,DE ;
BOOL HL

INC HL

RES 1,1 ; 16

- HL==B  B==0
BOOL HL

INC HL

RES 1,1 ; 8

(80h  7Fh). 16 _ 32768  + 32767 (8000h

ASB (1S & IV & 12) v (S & V)
A<B (S & V) v (IS & V & 12)

==B
A>=B
A<=B
D15
D15

; HL>5

LD DE,65535-(5+08000h) ; 5

LD BC,08000h
ADD HL,BC ;
ADD HL,DE ; 16

; HL>5 1--

SUBC HL,HL ; HL-HL-C ; c 1 -1, 0

BOOL HL ; 22 - HL>5

8
7FFFh).

34

— 128

11

+127



0111... 1111...

111... 011...

100... 000...

11. 15

3.4.5 1/0 Atomic Move

LDD LDI

LD HL,sh_PDDDR ;
LD DE,PDDDR ; DE 1/0
SET 5,(HL) ; 5 1
; Idd
101 1dd ; (io DE)<-(HL) HL--, DE—

LDD 1/0 DE 1/0 HL
LDIR LDDR
1/0

3 5
Rabbit

(11R) (EIR)

LD A,IIR
LD IIR,A
LD A,EIR
LD EIR,A

RST 10
RST 18
RST 20
RST 28
RST 38

RST Z80 7180

DE

170

(00, 08, 30)

1/0

RST



Z80 7180 Rabbit 1R RST
XPC XPC
3.5.1
Z80 Z180
66h Rabbit
( )
interrupt latancy
Z-World Z180 100u s
5 20 p s.
Rabbit 1 2
0 1 2 3 20
( )
2 170
8 (IR) IR
( )- IR
(IPRES) 1P
3 PUSH POP 1P
(IPSET 0, IPSET 1,IPSET 2, IPSET 3) IP
2.
0 ( 1 2 3)
1 2 3
2 3
3 ( RST )
3.5.2
Rabbit 2
Rabbit




3.5.3

18.19*

LD SP,HL
LD SP,1Y
LD SP,IX

SP

LD SP,HL
101 LD sseg,a

1P
IP O ; IP
1P 1
IP 2
IP 3

IPRES ; 1P2

RETI ; IP
POP IP ; IP

3.5.4

1P 1;

IPRES ;

1,0

00



PUSH IP
IP1; 1

POP 1P ;

LD A,xpc
LD xpc,a
BIT B, (HL)

3.5.5 Bit B,(HL) Semaphores
bit B, (HL)

BIT B, (HL) ; (HL)
SET B, (HL) ; 1

3.5.6 computed long call and jumps
XPC

LD xpc,a
JP (HL)

A XPC HL PC

computed address
; A=xpc, lY=address
LD A,newxpc
LD 1Y,newaddress
LCALL DOCALL ;
;  DOCALL
DOCALL:
LD xpc,a ; Xpc
JP (1Y) ;

JP (HL)



4_ Rabbit

Rabbit
4.1
Rabbit
12
L1 I Timer Output
A B
C Parallel Port Output
Lﬂteuc/y( f Parallel Port Qutput

Iute%mpt -

routine sets

up B edge. . Timer Output

Setup Register
12
12
30
19 10 16 10- 12
-9 7 3
20 5 200 20 MHz
10 u s
 — 10 us 10ms 1000
—— 10 ps 100,000 bps.
3 -5
5 20,000 bps
10 u s 20 y s
10 us B
100 B
B
B sysclk/2 1- 256 B 20M Hz

100



10 MHz 100 ns B 10

B sysclk/2 B
B
10 20 MHz 0.5 us
lpuys
4.1.1
75% holding current 75%
56%
5 kHz 20 kHz 50 us 100 p s
50% 200 s 25%, 50% 75% 250 u's

20%, 40%, 60%  80%

push af ; 10

push hl

push de

Id hl, (ptr) ; 11

Id a,(maskand) ; 9

and a,(hl) ;5

Id e,a ; 2

Id a,(maskor) ; 9

or a,e ; 2

ioi Id (port),a ; 13

inc hl ;2

Id a,(hl) ;5

or a,a ; 2

jr nz,step2 ;2

Id hl,(beginptr) ; 11 hl
step2:

Id (ptr),hl ; 13 hi
pop de 7

pop hl

pop af

reti ;7

; 153 -7.5us 20 Mhz

15% 50 pus



HL
"off" 180
° 2/3
push af ;10
push hl
Id hl, (ptr) ;11
Id a,(hl) ;5
ioi Id (port),a ; 13
inc hl
Id a,0fh ;4
and 1 ; hl
jr z,step2
Id (ptr),hl
pop hl
pop af
reti
step2:
Id a, (beginptr)
Id 1,a
Id (ptr),hl ;13
pop hl ;7
pop af
reti
103

4.2

+ + + + +
TS s s 2ok

D.d.:?

I Ty Ty Yy

xf AN AN N N N
D.d.:?

Ay Y AY Y Y

// (N AN VAN VAN VAN

13.



4.3 (cold boot)

0000H Rabbit
SMODEO, SMODE1 14 Rabbit
0 0 /CSO  /0EO
3 RAM
7.9
3 A 2400bps A
1/0 1/0
1/0 32K 1/0
0 1/0 0
RAM 0 0
[
BIOS
[
Dynamic C
, Rabbit
° Rabbit
RAM
4 4 slave port
Rabbit Rabbit
RAM
Rabbit
“ Rabbit ”
Rabbit
38
Rabbit

Rabbit



4.41
Rabbit

)

14.

20

25

Rabbit

set and forget ”

24

UART

(pinout)

UART

20

UART (UART—

100

UART



0as
105
oas
£as
tas
cas
Qs

-

] 4ll
1 AS

] V55

ovd O
Tvd
Tvd
‘tvd
VI
e¥d
oyd[] &
‘twd

gsal]

T8 TvIx ]
caTvIN O

aaal]
'0gdI
REEIN
' THA
{EEI
“taEd[] £
"CEd ]

98 [
184

o
o

S0 /WEL
790 AlS
78] VDD
77/ Vss
T[] /OEL
60 FCO, TXD
597 PCL, BXD
58[] PC2, THC
571 BCl, BNC
56(7 PC4, TXE
550 PCS, BXE
s4[] FCh, TXA
53[0 VDD
510 PCT, BXA

28

750 ALl
710 Ald

7400 A9
73] AS
7000 AL7
697 /WE
68[] AlS
6707 Als
s6[] ALS
650 Al
641 AT
631 A6
6l A4

1]
5

-
s
T

] 14

of
Tt

M 0ad
M 1ad

M zad

M £ad

N +Od EXIY
N Sdd ' EEY
7 90d VELY
M LOd WAV
M LvEA

M TV IVIX

M TV IVIX

F SSA

] SALYVIE

1 LasaEd/

1 Ha0mMs
M TEa0Ms
4 Lnoraaw
4 mMEIng/
mLar

M HAOT

-

K510 5
joBa[] &
Al 7
s s
D79
D&l 10
D] 11
D4 L
D3l 13
D
DL 1S
Dol 1a
Aol 1T
Al 18
A2 19
A 20
/SCS, IT,PET 2L
Ia, PEa ]
IMTIE, I5, PES[] 23
B, rEIC] 25
12, PE:L] 2
wvss[d
vool] 2=
IMTLa, 1L, PELO

INTORE, 4, PE4 L] 24
INTOA, 10, FEOL] 30

14



5.2

15 Rabbit  PQFP

17.9 mm

-

*su:

:

+—I:
0.65 mm

D.i;aﬂ mm
L
100 1]

D000

[0

23.9mm

N00000

//—

N

|/

2 mm dia
clearance
drill 1.62

mim

- 14.62

a
NP

1N

N

10.725

A

|

a
NP

Lh
]

JUU v

UL

131

[
70T

-— 1.95 mm
—' — (.80 mm

100-pin PQFP Physical Dimensions (Top View)

Uil

Holes are optional to aid in attaching substitute connector
for processor.

(100-  PQFP

15 Rabbit  PQFP

« )



16 PC 100-  Rabbit  PQFP

1.99 mm
— *-I‘—/ pin 100
81
+ 1.93 mm
1.75 mm H H H H H | | A
T R0 ——0.36mm
1 I
0.65 mm
piml [ 1] 1 —
22.35 mm
1 1
1 1
1 1
pin 30 pin 51

00 00

16 PC 100- Rabbit  PQFP



5.3 Rabbit

3 Rabbit

perclk
CLK
1
172
11¢ GOCR=0Eh ”
/RESET 37
32KHz 40
XTALA1
XTALA2 32KHz 41
XTALB1 90
XTALB2
7,17-20,61-6
A0-A19 8 70-75 79
CPU
DO-D7 9-16
WoT  — watchdog
/WDTOUT 30 34
1 fetch cycle
STATUS low
2 38
3
11¢ GOCR=0Eh ”
SMODE1 35 SMODEO
SMODE1 36
SMODEO SMODE1=0 SMODEO=0 0 35-36
01 10
10 A
11 2400bps A

SMODE




8
/CS0O base flash
memory
l_
RAM /CS1
/CS1 5
RAM
2_
/CS2 4
0_
/0EO0 6
1_
/0E1 76
O_
/WEO 69
write 1—
enable) /WEL 80
1/0 —_
170 /BUFEN 170
33
1/0
170 1/0
1/0 1/0
/10RD 32
E
1/0 1/0
1/0 1/0
/10WR E 31
1/0 PAO- 81-88
A PA7 float




1/0 B /0 PB7 PB6
PBO-PB5
PBO PB1
/0 PBO- 6 0
PR7 ) PB7--/SLAVEATTN
PB5 PB4— SA1l SAO 93-100
PB3—
PB2—
A PB1
B PBO
1/0 C
1 357 0 2 4 6
/0 PCO- 4 0 2 4 6
PC7 4 b ci A 51 54-60
UART
1/0 D
/
/
110 | PDO- / PD6 . Al 4350
PD7
B PD7  PD5
open A B

drain




1/0 E
/O 110
8 1/O
1/O
64K 1/O 1/8
11O PE7- PEO
1/O 21-26,29,
30
PE7
PE7
PE7
PEO PE4
0 PE1 PE5
PEO PE1
PE4A PE5
VBAT +3.0V( ),+3.3V  +5.0V 42
VDD +3.3V  +5.0V 3,28,53
78,92
VSS 2 27 39
52,77,89
CLKA A PB1 94
CLKB B PBO 93
RXA, TXA A-D 51 54-60
RXB,TXB RX-
RXC,TXC TX-
RXD,TXD
ARXAATXA | RX- A B 43-46
ARXBATXB | TX- D PD4-PD7




SDO-SD7 A 81-88
ISLAVEATTN /SLAVEATTN—
7 100
/SRD 9
B 3
ISWR B 95
2
SA0 SA1l B 4 5|97 98
/SCS El 21
7
110 N0 N1 1/0 11O
Nn2 n3 1/8 8K
na ns 21-26
ne n7 E 07 29 30
pos,neg
0
E 24 30
0 INTOA INTOB 0
1
pos,neg
1
INT1A INT1B e 23 29
1 4
5
5.4 (Bus Timing)




Tl Tw T2

b i ¢ Address (20 for memory, 16 for 1/0)
| | [
— | | JOCSn or /CSn
- L o JOEn or /IORD and /BUFEN (/BUFEN rd or
| | i
|
| | |
Data for read
I : >|<C'><
I I yalid
I I I !K Data for write 3-s drive starts at end of T1
]
I I |
o B— ! —  WEn or JJIOWE
I I ' |
Motes: I

Read may have no wait states.

Write cyeles and I/0 read cweles have at least 1 wait state. Clock
may be asymmetric if clock doublerused. /O chip select avail -
able on port E as option.

110

17

17 17



STATUS 1.
(38)

2.
SVIODE1 (SMODE1,SMOD?2) 1-
(35)
SVIODE2 (SMODE1,SM ODE2) 1-
(36)
CLK (1) 1.

2 1/2
/WDTOUT 30.5
(34) 30.5 61
PA7(88) SD7 SD7
PA6(87) SD6 SD6
PA5(86) SD5 SD5
PA4(85) SD4 SD4
PA3(84) SD3 SD3
PA2(83) SD2 SD2
PA1(82) SD1 SD1
PAO(81) SDO SDO
PB7(100) | /SLAVEATTN(

)
PB5(98) SAY( )
PB4(97) SAO
PB3(96) ISRD(
)

PB2(95) ISWR(




PB1(94) | CLKA( A CLKA
PBO(93) | CLKB( ) CLKB
PC7(51) RXA
PC6(54) | TXA
PC5(55) RXB
PC4(56) | TXB
PC3(57) RXC
PC2(58) | TXC
PC159) RXD
PCO(60) | TXD
PD7(43) ARXA
PD6(44) | ATXA
PD5(45) ARXB
PD4(46) | ATXB
PD3(47)
PD2(48)
PD1(49)
PDO(50)

/17— 1/0 /1SCS(
PE7(21)
PE6(22) | /16
PE5(23) | /15 INT1(
PE4(24) | /14 INTO(
PE3(25) | /13
PE2(27) | /12
PE1(29) |/I1 INT(
PEO(30) | /10 INTO(




5.6 DC (DC Characteristics)
56.1 5.0
5 Ta=40 85 ,Vp=4.5V 5.5V Rabbit 5.0V
DC
5 5.0V DC
Iy Vin=Vbp,Vpp=5.5V 10 HA
I ViN=Vss,Vpp=5.5V | -10 HA
)
loz ) | Vin=Vob  Vss, -10 10 HA
Vpp=5.5V
VL CMOS 0.3xX Vpp Vv
\um CMOS 0.7X Vpp
Vo CMOS Vpp=5.0V, 25 24 %
VoL CMOS loL= 7 0.2 0.4 v
()
Vpp=4.5V
Von CMOS lon= 7 0.7x Vpp | 4.2 V
()
Vpp=4.5V
5 633V
6 Ta=40 85 V=27V 3.6V Rabbit 3.3V
DC
6 3.3V DC
I H Vin=Vbp,Vpp=3.6V 5 HA
I ViN=Vss,Vpp=3.6V | -5 HA
)
loz ) | Vin=Vop Vs, -5 5 MA
Vpp=3.6V
Vi CMOSs 0.3x Vpp Vv
\um CMOS 0.7X Vpp
Vr CMOS Vpp=3.0V,25 1.5 Vv
Vor CMOS loL= 5 011 |04 Vv
()
Vpp=2.7V
Von CMOS | on= 5 0.7X Vpp | 2.3 V
« )
Vpp=2.7V
57 1/0 sourcing and sinking
Rabbit  1/0 AC 8mA



AC 22.11Mhz  CPU 100pF

AO DO 16mA
7 1/O AC DC
71/0
L 2 mA
AC 3pC
SRC/SNK SRC/SNK
PA[7:0] 8/8 12/12
PB[7,1,0] 8/8 12/12
PC[6,4,2,0] 8/8 12/12
PD[7:4] 8/8 12/12
PD[3:0]* 16/16 25/25
PE[7:0] 8/8 12/12
Voo 1/0 112mA
VA /O 150mA
3110 AC
AC AC
I=CVf f C V
12 000 000 5V 100pF I=6mA
1/O 1 2

2 D[7:0] 1 112mA



6 Rabbit /0

8 Rabbit 110

GCSR=00h 1100 0000
RTCCR=01h 0000 0000
7.5
RTCOR=02h XXXX XXXX 0
RTC1R=03h XXXX XXXX 1
RTC2R=04h XXXX XXXX 2
RTC3R=05h XXXX XXXX 3
RTC4R=06h XXXX XXXX 4
RTC5R=07h XXXX XXXX 5
WDTCR=08h 0000 0000 7.6
WDTTR=0%h 0000 0000
GOCR=0Eh 0000 0x00 7.4
GCDR=0Fh XXxXX X000
MMIDR=10h Xxx0 0000 D 1&D
/CS1
XPC 0000 0000 1/0
STACKSEG=11h | 0000 0000
(2180 CBR)
DATASEG=12h 0000 0000

(2180 BBR)




SEGSIZE=13 1111 1111 64K

?Z 180 CBAR)

MBOCR=14h 0000 0000 256K0

MB1CR=15h XXXX XXXX 1

MB2CR=16h XXXX XXXX 2

MB3CR=17h XXXX XXXX 3

SPDOR=20h XXXX XXXX

SPD1R=21h XXXX XXXX

SPD2R=22h XXXX XXXX

SPSR=023h 0000 0000

SPCR=24h 000x 0000

PADR=30h XXXX XXXX A R/W
PBDR=40h 00XX XXXX B R/W
PCDR=50h x0x0 x0x0 C

PCFR=55h x0x0 x0x0 C

PDDR=60h XXXX XXXX D R/W
PDCR=64h xx00 xx00 D

PDFR=65h XXXX XXXX D

PDDCR=66h XXXX XXXX D

PDDDR=67h 0000 0000 D

PDBOR=68h XXXX XXXX D O wW
PDB1R=6% XXXX XXXX D 1

PDB2R=6Ah XXXX XXXX 2

PDB3R=6Bh XXXX XXXX 3

PDB4R=6Ch XXXX XXXX 4

PDB5R=6Dh XXXX XXXX 5

PDB6R=6Eh XXXX XXXX 6

PDB7R=6Fh XXXX XXXX 7

PEDR=70h XXXX XXXX E /
PECR=74h xx00 xx00 E

PEFR=75h XXXX XXXX E

PEDDR=77h 0000 0000 E

PEBOR=78h XXXX XXXX E O




PEB1R=7%h XXXX XXXX

PEB2R=7Ah XXXX XXXX

PEB3R=7Bh XXXX XXXX

PEB4R=7Ch XXXX XXXX

PEB5R=7Dh XXXX XXXX

PEB6R=7Eh XXXX XXXX

PEB7R=7Fh XXXX XXXX

IBOCR=80h 0000 Oxxx 1/0 0
IB1CR=81h 0000 Oxxx /0 1
IB2CR=82h 0000 Oxxx 1/0 2
IB3CR=83h 0000 Oxxx /O 3
IBACR=84h 0000 Oxxx 1/0 4
IB5CR=85h 0000 Oxxx /0 5
IB6CR=86h 0000 Oxxx 1/0 6
IB7CR=87h 0000 Oxxx 1/0 7
IOCR=98h xx00 0000 0

[1CR=9%h xx00 0000 1
TACSR=0A0h | 0000 xx00 A /
TACR=0A4h XXXX XXXX A
TAT1R=0A3h 0000 xx00 Al 1
TAT4R=0A%h XSXXX XXXX A4 4
TAT5R=0ABh | XXXX XXXX A5 5
TAT6R=0ADh | XXXX XXXX A6 6
TBCSR=0BOh | xxxx xx00 B /
TBCR=0B1h xxxx 0000

TBM1R=0B2h | XXXX XXXX B MSB
TBL1R=0B3h XXXX XXXX B LSB
TBM2R=0B4h | XXXX XXXX B MSB2
TBL2R=0B5h XXXX XXXX B LSB2
TBCMR=0BEh | XxxX XXXX B MSB
TBCLR=0BFh | XxxX XXXX B LSB




SADR=0COh XXXX XXXX A /
SAAR=0C1h XXXX XXXX A
SASR=0C3h 0xx0 0000 A
SACR=0C4h xx00 0000 A
SBDR=0DO0h XXXX XXXX B /
SBAR=0D1h XXXX XXXX B
SBSR=0D3h 0xx0 0000 B
SBCR=0D4h xx00 0000 B
SCDR=0EOh XXXX XXXX C /
SCAR=0E1h XXXX XXXX C
SCSR=0E3h 0xx0 0000 C
SCCR=0E4h xx00 x000 C
SDDR=0F0h XXXX XXXX D /
SDAR=0F1h XXXX XXXX D
SDSR=0F3h 0xx0 0000 D
SDCR=0F4h xx00 x000 D

7 /O

7 1 Rabbit

Rabbit 29.4912M Hz

overtone crystal 32.768KHz VBAR
XTALA1 XTALB1 XTALA2 XTALB2
CLK 1
XTALB1 10
32.768KHz
/
32.768KHz
~200

18 /



CPU CLK
CLK
tor
£Ilrj‘_l ext pin
_ disable — %2 | CIK
| I
I . Clock
— Main Os¢ ID oubler 18 CPU
— 32 kHz Peripheral
——| Osc Devices
To Watchdog Timer and
Time/Date Clock MNote: Peripherals cannot be clocked
slower than CPLI.
18
/ 110 =00h
7.6 00
01
10
11
5 0 0
4:2 000
001
01x
1x0 32KHz
32KHz
Ix1 32KHz
32KHz




1:0( ) | 00
01 1
10 2
11 3
clock doubler
10
10 GCDR =0fh
73 XXXX
2.0 000
001 8ns 30MHz
010 10ns 25MHz
011 12ns 20MHz
100 14ns 18MHz
101 16ns 16MHz
110 18ns 14MHz
11 20ns 12MHz
19
50%
5v 25 4y 20%
3.3V 40% 1%
50-50
55-45
10%
10%
170 noncritical timing

RAM



Oscillator delayed
and inverted

Doubled clock L L L L

Oscillator 5% 55%

Delay -
time
0.45p

0.55p

|
Address }
Example

Write

Data out
Cycle ata ou K

Write pulse \

'ﬁ'?:'?%:::::l_

3

19

(Controling Power Consumption)
0,1,2
/
RAM
32.768kHz
(0°0) mul mul
0
25

CLK STATUS /WDTOUT /BUFEN

alternate assignment




48

RTC

11 GOCR=0Eh
7.6 00 CLK
01 CLK
10 CLK
1 CLK
5.4 00 STATUS
01 STATUS
10 STATUS
11 STATUS
3 1 WDTOUTB 1 2
32kHz
0 WDTOUTB
2 X
1.0 00 /BUFEN /0
01 /BUFEN
10 /BUFEN
11 /BUFEN
/
RTC 48 32.768kHz RTC
8 8
8 200ns
32kHz 272 1960 1 1 12
Z-World 136
6
RTCOR RTCOR RTC5R
32kHz
RTC
32kHz
5 256
1/128
256 32kHz
RTC

RAM

48



7.6

hit

X RTCOR R/W =0000 0010
RTCI1R =0000 0011
RTC2R =0000 0100
RTC3R =0000 0101
RTC4R ( =0000 0110)
RTC5R =0000 0111
13 RTCxR
7:0 48 RTC
RTCOR RTC
RTC
14 RTCCR =01h
7:0 00h RTC RTC
80h
40h 80h RTC 0cOh
80h 40h arm command , RTC
0
cOh RTC 0
— 40h
7:6 01
[ l”
0100 1101 0,2,3
00h
5.0 0 RTC
1 RTC
Watchdog Timer
17 32kHz 0.25
“ ” 1
" WDTCR



15 WDTCR =08h
7.0 | 5Ah &
57h 1
59h 500ms
53h 250ms
WDTTR
ability
RAM
10ms
0 0
16 WDTTR =09hn
7:0 51h WDT
54h
52h WDT
54h
53h WDT
54h
54h WDT
51h
52h 53h, 54h
WDT
WDT
WDT 32kHz
0.25
1

recovery



77
Rabbit /RESET RTC
RAM
128
32kHz
128
/RESET
48 8 2+4
/CSO /OEO0 /WEO
7 8 Rabbit (Rabbit Interrupt Structure)
PC
E
17
Z80 7180
16
1 2 3 0

4 4-position

IR



17

I1/0 ISR
Oxh {IIR,00h}
1xh
2xh {IR,80h}
A 3xh
B 4xh
C 5xh
D 6xh
E 7xh
/O 8xh
A Axh {IIR,AOh}
B Bxh {IIR,BOh}
Cxh {lIR,COh}
Dxh {IIR,DOh}
C Exh {lIR,EOn}
D Fxh {I'R,FOh}
RST 10 n/a {IIR,20h}
RST 18 n/a {IR,30h}
RST 20 n/a {I1R,40h}
RST 28 n/a {IIR,50h}
RST 38 n/a {IIR,70h}
18
2kHz GCSR
TBCSR!
TASR
SPSR
A RX SADR SAAR
X SADR SASR
B RX SBDR  SBAR
TX SBDR SBAR SBSR




=

C | RX SCDR  SCAR
X SCDR SCAR SCSR

D | RX SDDR  SDAR
X SDDR SDAR  SDSR

ISR TBMxR TBLXxR
8 1
Rabbit
301" Rabbit2000 "
20 #1
#1 #0
Fulse
External Interrupt Catcher
Reguest INT1A 25—
{|' ™, Interrupt Request #1
OR'ed Interupt 7~
_Request - — Ll 2.3.?
i Interrupt Acknowledge #1
i Fulse
: Catcher
! wan INTOA 30
: 1k
i El . Interrupt Regquest #0
7/
oememean oo NTOB 20—
1k I"«'r"l Interupt Acknowledge #0

20



E
19
5,4 3,2 1,0
7,6
I0CR 1001 1000 xX | INTOB PE4 INTOA PEO | Enb INTO
I11CR 1001 1001 xX | INT1B PES INT1A PE1 Enb INT1
00- 00- 00-
10- 10- 01-
01- 01- 10- 2
11- 11- 11-
:INTO—EIR,00h/INT1—EIR,08h
; External interrupt Routine #1
intl:
ipres ;
ret ;
; #0 3
int2:
push ip ;
ipset 1 ; (12 )
pop ip ;
ipres :
ret ;
7 9 Bootstrap Operation
A
A SMODE SMODE1 SMODEO = 0 O

ROM



16 16

0
SMODE 0 SMODE
0 0000h
7 0“1 80h,24h  80h
ROM
0 SMODE 0 SPCR 7 0
SMODE 0 SPCR
SMODE1 SMODEO = 0 1 A
B E 0
Write Empty
14.8.2
SMODE=10 A C 7
B 1 EEPROM
SMODE=11 A 7 32kHz
32kHz 2400bps
2400bps 8
A TXA TXA
break signal 80h,50h,40n  TXA C
40h 80h,55h,40h C
55h C 6 TXA
2400bps ams
8.Rabbit Rabbit Memory Mapping and Interface

3.2 Rabbit



21 Rabbit 16 20
20
Processor Memory Memory Memory
- L - J -
Mapping Interface B
Unit Unit
21 Rabbit
Memory-Mapping Unit
64K 16 4K
0
22 SEGSIZE
OEO0Oh—OFFFFh SEGSIZE 4 ODFFFh
SEGSIZE 4 0ODh 0D000Oh—O0DFFFh 4K SEGSIZE
4 OEh 4 0
SEGSIZE 4
OEh 0
16 20
1 4 16 4
2 8 8 16 4 20
20 (wraparound)

20



XPC Id a,
xpc,ld xpc,a,lcall Iret,ljp

STACKSEG=
11h
DATASEG=
12h
21
7.4 3.0
SEGSIZE=13h
64K Extended code
XPC segment (8K)
Boundary SEGSIZE[4..7] ; ¢ \
Stack segment
(4K tvp)
Boundary SEGSIZE[0..3] ‘\
Data segiment
XPC
STACKSEG
DATASEG - E.oot segment
b 0K
+ 16-bit address

20-bit address




Memory Interface Unit

20 1M 256K
22
Rabbit /CS0O /CS1 /CS2
512K RAM /CS1 /CS1
RAM 80000h  OFFFFFh
22 X MBxCR=14h+x
7,6 5 4 3 2 1,0
00—4 1— 1— 1— 0— 00— /CS0
A19 Al8 /OE0 /WEO | 01— /CS1
01—2 1— Ix— /CS2
/OE1 /WE1
10—1
1n—
22 1M
7,6--- 2
5,4---
256K
1M 256K 4 256K
3---
2--- /OEx /WEX
1 O0--
8 31 Al6 A19 /CS1
/! MMIDR A19 Al6
/CS1 RAM /CS1
/CS1 RAM

/OE1




Boot code and constants

23 MMU / MMIDR=010h
7 6 5 4 3 2 1 0
000 1— /CS1 0
Allocation of Extended Code and Data
Dynamic
1024E
Variables
Y P
Stacks
64K
xcode Available RAM
window
56K
/, 512K
Debug WVariables :
: Extended code
Eoot
code
N

52K

Dynamic C

8K

23

RAM 64K D 52K

How the Compiler Compilesto Memory

8K E000—FFFF
16 64K
8K

8K M



8 XPC 8K 256 4K 16 PC
EOOO—FFFF 16
20 8K 4K
4K
FO00
F000 4K FO00+x E000+x
4K 8K 16
20
- ¢/////_ Fomeey FFFF
SN
- /%_ - L EO000
_\&\\_\_ - FFFF
_\< _ | &Q% _ E000
AK pages Manury Yiew in §E window euh sepmvend
24
9 Parallel Ports
Rabbit A B C D E
4
A—
B— A B /O
C— 1/0
D— 4 A B /O 4 D
D
D 03
E— /0 4 E
E
9 1
A / 24



PADR =030h

24 A
R/W 8
A SPCR
080h SPCR 084h A
i 1” 113 0‘”
9 2 B
25 B
25 B PBDR =040h
7 6 5 4 3 2 1 0
PB5in | PB4in | PB3in | PB2in PB1lin | PBOin
(echodrive)
PB7 PB6 X X X X X
PB2-PB7
PBO-PB5 PB6 PB7
PBO B —_
PB1 A
6 7 PB6 PB7 99 100
9 3 C
26 C 4 4 PCO PC2 PC4 PC6
PC1 PC3 PC5 PC7 1 3 5 7
0 2 4 6
C transmit lines
PCFR C
C
B 7 5 D
C
C PCFR
0




26 C
7 6 5 4 3 2 1 0
PCDR(r) | PC7 PC5 PC3 PC1
adr=050h in In In in
PCDR(w)
adr=050h X PC6 | X PC4 X PC2 X PCO
PCFR(w)
adr=055h X TX X TXB X TXC X TXD
A
9 4 D
25 D 8
D D 4 5
B 6 7
0 01 45
D
27 28
- PDDR— D /
- PDDDR— D ‘1
- PDDCR— D “ 1
- PDFT— D 6
- PDBxR— 8
- PDCR—

01 45 0




1/0 Data

JAN

=

=

2l

ARXEB

ATXE

|
perclk/2

Timer Al
Timer Bl
Timer B2

AN

:
i

f

-
-
e
-

inputs

Driver—optional open drain

]

perclk/2 |
Timer A1 —
Timer B1 —
Timer B2 —

25

Lo aa



9 5
26

27

PDDR
(R/IW)
adr=
060h

PD7

PD6

PD5

PD4

PD3

PD2

PD1

PDO

PDDCR
(W)
adr=066h

out=

out=

out=

out=

out=

out=

out=

out=

PDFR
(W)
adr=065h

alt(

TXA

alt(

TXB

PDDDR
(W)
adr=067h

dir

out

dir=
out

~
1

dir=
out

dir=
out

dir=
out

dir=
out

dir=
out

dir=
out

PDBOR(W)
adr=068h

PDO

PDB1R(W)
adr=069h

PD1

PDB2R(W)
adr=06Ah

PD2

PDB3R(W)
adr=06Bh

PDB4R(W)
adr=06Ch

PDB5R(W)
adr=06Dh

PDB6R(W)
adr=06Eh

PD6

PDB7R(W)
adr=06Fh

PD7

28

adr=064h

7,6

54

3,2

00—
01—

Al

Bl
B2

clk/2)

00—
01--

10—

Al

(

Bl
B2

clk/2)

110
PE7

/0



IO Data

- PEDR—
- PEDDR—

.PEFR— E

110
- PEBXR—
- PECR—

fscs

T .
| |~
I6 | ——
™~ INTL
I s
=L - bl
_Iﬂ Inputs
perclk/2 —
Timer Al
Timer B1
Timer B2
] . PE3
o o
[N "
B }""‘ INTL
il +—-"'
= PEO
~ L < T
_ 1
perclk/2 —
Timer Al
Timer B1
Timer B2
26 E
1 0
“ 1" /0 110

01 45 O

IBXCR



29 E
7 6 5 4 3 2 1 0
PEDR(R/W) | PE7 |PE6 |PE5 |PE4 |PE3 |PE2 | PEl PEO
adr=070h
PEFR(W) alt alt alt alt alt alt alt/11 | alt/Ilo
adr=075h n7 /16 /15 na n3 n2
PEDDR(W) dir= | dir= [ dir= |dir= |dir= | dir= |[dir= dir=
adr=077h out out out out out out out out
PEBOR(W) X X X X X X X PEO
adr=078h
PEB1R(W) X X X X X X PE1 X
adr=07%n
PEB2R(W) X X X X X PE2 | x X
adr=07Ah
PEB3R(W) X X X X PE3 | x X X
adr=07Bh
PEB4R(W) X X X PE4 | x X X X
adr=07Ch
PEB5R(W) X X PES | X X X X X
adr=07Dh
PEB6R(W) X PE6 | x X X X X X
adr=07Eh
PEB7R(W) PE7 | x X X X X X X
adr=07Fh
30 E adr=074h
7,6 5,4 3,2 1,0
00— ( clk/2) 00— ( clk/2)
02— 03—01—
X Al X Al
10— B1 10— B1
1n— B2 1— B2




10 /O I/O Bank Control Registers

E /0 8 1/0
/O 27
8 1/0 64K 110 1/8
Tl Tw T2
_ L] 1 1 |
ADDER [ | : wrali |
| |
write data 7=, ,-4: <Al |
|
write sirohe :—! ——
|
read data ’i’ : LT A
read sirohe _'—| i_
[ I :
chip select siroh®E—] : i_
|
I 1
External I'Q Timing ¢(with 1 waiistate)
27 /O
31 8 1/0
311/0 adr 1bxCR=08xh
7,6 54 3 2-0
/1X 1—
-1 00— 0—
10-3 01—
01-7 10—
00'15 ]1_ “ ”
8 1/0 /0 1/0
E 2
1 3 7 15 110 /0
E /TOWR
1/0 1/0
/0 5 E
E
113 l“

110 16 1/0 2 110 64K



32 /0
1/0 A[15 13] /0
IBOCR PEO 000 0x0000—O0x1FFF
IBICR PE1 001 0x2000—O0x3FFF
IB2CR PE2 010 0x4000—O0x5FFF
IB3CR PE3 011 0x6000—O0x7FFF
IBACR PE4 100 0x8000—O0x9FFF
IB5CR PE5 101 OxA000—OxBFFF
IB6CR PE6 110 0xCO00—OxDFFF
IB7CR PE7 m OxEO00—OXFFFF
/O 10l I0E HL 12
3.38 bug
1n Timers
A B A D E
B B
28 A B
n 1 A
A —Al A4-A7 28
Al A4A7 8 2 reload register
0-255 n+1
127 128 0
1
18
0
A4 A5 A6 A7 A B C D
A4-A7 11.0592M Hz,
Ad 144 2400bps
16 8 11.0592M hz

11,059,200/(2* 16)

=345,600



] I
T LAl 3 A4
perclk/?
r AS
Timer A System Ab
AT
_I 10-bit counter
/8 J compare
-.-—lﬂ bits - - I
Timer B System Tt Timer B1
match preload
A Timer_B2
matchreg
match preload

i




Clock In

Input clock

Count value

* Reload Register Diagram
8-bit reload register
load
8-bit down counter |
pulse on zero count out
1 1 1 1
2 2 1 1 0 0 N N-1

Qutputpulse [ L

29
A A
TACSR
1] 1”
A 1/0
A 1/0 33
33 A /0
/10 (hex) | RIW
A TACSR AO RIW
A TACR A4 W
Al 1 TATIR A3 W
A4 4 TAT4R A9 W
A5 5 TAT5R AB W
A6 6 TAT6R AD W
A7 7 TATTR AF W
A / TACSR 34



256

A A =0A0h
7 6 5 4 3 2 1 0
A7 A6 A5 A4 0 0 Al
A7 A6 A5 A4 X X Al 1—
A
1 47— |/ Al A4-A7 “ 1
4-7
0— “r A perclk/2 Ok perclk/2
TACR 35
35 A =0A4h
7 6 5 4 3 2 1
A7 A6 A5 A4
A7 A6 A5 A4 00—
O-pclk/2 | O-pclk/2 | O-pclk/2 01— 1
O—pclk/2 | 1Al 1-Al 1-Al 10— 2
1—A1l u— 3
8 0-255
1 2
A 0 A
Al
255
A 5 Al A4-A5
1
0



n 2 B

28 B B perclk/2 percdk 8 Al
B 10
B2 1
/ E
/O
1/10
TBLXR TBCSR
TBLXR TBMxR
B 1/O 36
36 B
/0 hex | RIW
B / TBCSR BO R/W | xxxx x000
B TBCR B1 W XXXX XX00
B MSB1 TBMI1R B2 X
B LSB1 TBL1R B3 W X
B MSB2 TBM2R B4 W X
B LSB2 TBL2R B5 W X
B MSB TBCMR BE R X
B LSB TBCLR BF R X
B / TBCSR 37
37 B TBCSR =0BOh
73 2 1 0
1— 1— 1—
2
1 1
B TBCR 38
38 B TBCR

Bl



92.6

A WO DN P

74 3,2 1.0
00— perclk/2 00—
01— Al XX— XX
Ix— perclk/2 8
B MXBx TBM1R/TBM2R 39
39 B MSBx TBM1R/TBM2R=0B2h/0B4h
7.6 5.0
1 B
perclk/2
22.1184MHz perclk/2  11.0592MHz 11.0592 MHz B
10
D E
B
8
8 7 1 0 2
2 2 2
256
1
2 3
2 OBEh TBCMR
OBFh TBCLR 16 1/O



;19 10

20MHz

push af ; 7
push hl
ioi Id a(TBCLR) ;11 8
ioi 1d hl,(TBCMR) ;13 = 2 ,h= 8
B 10
20MHz 10MHz
38 2*19
B
5
12 Rabbit
Rabbit A B C D
A B /0
40
40
Rabbit
CLKA CLKB
C TXA  TxB!
D ATXA ATxB
C RxA RxB
D ARXA ARXB
1 A B C D
A B
30

500,000bps

19



CLEA

Input to timers |Timer A4 Serial A - TR};
LR s ‘_]_—Altemﬂte 110
perclk/Z .
prescaled | CLKB
Timer AS Serial B » Ix
T
Alternate /O
Timer A6 - e IX
Serial C Rx
Timer A7 Serial D | e Ix
— --— Rx
30 Rabhit
12 1 Register Layout Serial Port
31
9
16 2
A4-A7 1-256
n 2
o Rabbit
2400bps A.2
41
41
xx=00,01,10,11 x=A B C D
( A B C D)
11xx 0000 SXDR
9 8 11xx 0001 SXAR
11xx 0011 SXSR
IRQ
11xx 0100 SXCR
17

42



Eead Data ViTite Data

" Al Data Out '
DataInReg Data Out Reg I (for 9th bit)
L — — — — 1
T - — — — — — — 4
Input Shift Reg Output Shift Reg

Ex serial data in
T'x =serial data out

Bit 0 1 2 = 4 &5 & T =steop

T= L1 LI I 1 Transmitting OD&h
Start Bit Stop Bit

7 A stop
Transmitting 0D6h

2 3 4 5 6
Tx—/li_A_I LI L with 9th address bit
o 1 1 0 1 0 1 1
Start Bit

Sth bit Stop Bit
Signals Shown At Microprocessor Tx pin
31
42 adr=11xx 0011,xx=A,B,C,D
7 6 5 4 3 2 10
0 0,0
( 9
)
FF
7—
“ 0!1 " 1"
6—— 9 8 9 8

Pl




2—— busy bit
0,1,4— 0
43
43 =11xx 0100,xx=A,B,C,D
7 5 4 3 2 10
00— 00— C 00— 8 00—
01— 01— 7 01— 1
01— D 10— 10— 2
A A B n— 3
10— Ix— n—
A B
A
11—
716_ ] 0 A B
8
8
54— TX
C PCFR D PDFR
D 93 * C’ 94 * D"
32—
12 2
110
32
12
leading edge trailing edge
17




I

Transmitter TR()

Transmitter Data
Buffer Empty or
Transmitter not Busy

> Request Interrupt
Write Transmitter |

Data Begister or .
Wite Status Register Receiver IRQ

I
Beceiver Data >
Buffer Full |
Bead Beceiver Data
Begister
32
12 3 Transmit Serial Data Timing
rundry 9 11
RS-485
12 4 Receive Serial Data Timing
RX
16
7 8 9 8
Rx

Rx



12 5

Clocked Serial Ports
33

3,2

spurious clock

1/2

172



character time

12
400,000bps 50,000
20ps 12 1.25us
1.5 2.75us 44,444bps 25
6.25s 40,000bps 35 8.75s 36,363bps
half-duplex
Serial Port
|nnnnnnnrlqquqqnnnnnnnnnnnnnnnnnr Toput Clock UL
8 clocks |
1 | L 1
\/ . stop bit
start bit Sﬂf“l:l“’g
poimn Receiver Data |
Ready Bit
Asynchronous Receive
1 [ L 1
Transmitter Data Reg Full ——
Asynchronous Transmit
Bit 0 Bit 7
I Y I N N I AN AN (O AN N N - o Y 8
Synchronous Receive/Transmit
(Transmit clock is input clock/2)




12 6

Clocked Serial Timing

12 6 1
Rabbit 34
Rabbit perclk/4
CYCLE 1 2 3 4 5 5] 7 &8
CL KA '\._,'lrI b, g fllr_“ L ."If_i. ."II % .-".I_| d .'If'_| d !
TxA LSB J BIT1 1 BIT2 {1 BIT3 {BIT4 f BIT5 § BIT6E MSE )
HaxA { LSB YBIT1}YBIT23BIT3 {BIT4 ¥ BIT5{BITe { MSB }
Hx Capture Strobe ? # * * ? ? ? ?
A
12 6 2
Rabbit Rabbit
perclk 2
3 perclk 35 perclk
perclk / ' i W / | / ! / '
CLKA T \
(ext.) b
TxA | H
35
36 perclk RxA  pedk
perclk / W /! h / Y / Y
CLKA 7 :
(Ext.) ! /
RxA | Aoy h
C"ufali::i
36
Rabbit Rabbit  perdk

perclk



perclk/6

12 7

full bit

interrupt:

Serial Port Software Suggestions

ISR ISR

push af ; 10

ioi Id a,(SCSR) ; 7

or aa D2

jp m,receive 0 7

jp transmit 7 7 ( 41 )

115,200bps

receive:

push hl ; 10
push de ; 10

Id hl,struct ; 6

Id a,(hl) ; 5

Idea ;2

inchl ;2

cmp a(hl) ;5
jr zroverrun ;5
inca ;2

and amask ; 4

AF

10 86Ls
21.5us

hl
de

1111 0000

PC

bufptr



dechl ; 2

Id (hl),a ; 6

ioi Id a,(SCDR) ; 11 C
ipres ; 4

Id hl,bufbase ; 6
Idd,0; 6

add hl,de ; 2
d (hl)a ; 6
pop de ;7

pop hl; 7

pop af ; 7

ret ; 8

; 117

68 3.50s 20MHz

in-pointer out-pointer

12 7 1 RS-485 Controling an RS485 Driver and Receiver
RS-485 station

RS-485

12 7 2 Transmitting Dummy Characters

1 ‘T 4 guiescent state



D A
D
RS-485
12 7 3 Transmitting and Detecting Break
0 9 9
0
12 7 4 UsingA Serial Port to Generate a Periodic I nterrupt
C D Tx
9 10 1 7 8
9 8
12 7 5 9
8051 9 Rabbit 2000
9 9
7 9 8
8 9 9
9
37
12 7 5 1 7
7 8
7 8 113 1" L OH 13 1” 13 OH
7



6 9 9 0
9 1
1
o 8 o 8
stop bit

i 7 '

10

start bit data bits 9th bit low

Character with Bth bit low stop bit

0 7] |

start bit Character w/o 9th bit low op bit This format is not

(
/ / sent automatically.
L

[1] 7 \I
\ Characler w. 8th bit high
start bit = 9th bit high

Signal shown at output pin on processor. A “1" is high.

37

115,200bps  8.6us  9,600bps  104ps
baute step

10%




M odebus
M odbus
1
°
9 n 10
°
A4-A7
[ ) 1
() A B TX
8
B 0 1 8
12 7 6 9
9 9 8051 7180
Cimentrics Technology 9
9 13 l‘”
9 “ o
9
9 1
113 OH 9
13 ” 9 13 ]-”
Rabbit “ !
9 IBM-PC

12 7 7 Rabbit / Rabbit-Only M aster/Slave Protocol



Rabbit 9
9 1
10
12 7 8 IModbus
M odbus 9
Modbus 35 quiet time
n n-1
n 3
13 Rabbit Rabbit Slave Port
Rabbit A
Rabbit
Rabbit
Rabbit
38
’_"/SPSR
i |_| _ SPD2R
81-88 . T A
| SDO-SD .|
98 SA1 B B . SPDIR
7 | sA0
3_;"' /SWR i L[] - SPDOR
e /SRD
21 | /scs L L CPU
<00 /SLAVEA - LN
38 Rabhit

3.5

P

Rabbit

SPDOR SPD1R



SPD2R SPDOR SPD1R SPD2R

SPDOR SPDOR
/
1 “ o
/0 Rabbit
110 €Y /
Slave Port Read Cycle
/SCS —
i1 Tsu(SCs) le——=ITh{SCS)
SA1, SA0 — -
e Tsu(SA) = ThSA]
/SRD h 1
s ~ Tw(SRD)
SD[7:0] ——— X ' —
e Ten(SRD) ' Tdis(SRD)
- » Ta(SRD)
/[SWR
;  TsuiSWR — SRD)
Slave Port Write Cycle
/SCS X —
:-—HITs.utSCS] i =
SA1, SA0 — X X
= Tsu(SA) = Th(SA|
ISWR \ "
' ~ Tw(SWR)
SD[7:0] ; ( —
: X = Th{SD)
I _H—HTsul:SD]
/SRD {4
——= Tsu[SRD — SWR)

39 R/W



39

41

Tsu(SCS) /SCS 10 -
Th(SC9) /SCS 10 -
Tsu(SA) SA 10 .
Tsu(SA) SA 10 --
Tw(SRD) /SRD 120 .
Ten(SRD) ISRD  SRD 0 -
Ta(SRD) ISRD  SRD -- 90
Tdis(SRD) ISRD SRD -- 20
Tsu(SRW-SRD) | /SWR ISRD 120 --
TW(SWR) ISWR 120 -
Tsu(SD) SD 20 -
Th(SD) SD 10 .
Tsu(SRD - SWR) /SRD ISWR 120 --
SPDOR SPDOR
SPDOR
ISLAVEATTN 100
40
Rabbit Rabbit
SMODEO SMODE1 41
38
SDO-SD7——
ISCS ISRD
SA1 SA0——
/SCS——
Rabbit No-N7
/SRD—— /SCS
Rabbit /0 /IORD
ISWR—— /SCS
/ISWR /SCS Rabbit
1/O /IOWR



/[SLAVEATTN—

A

SPDOR

SCR

SMODEO SMODE1

0

Master writes SPDOR

Slave inbound interrupt requested

Slave writes status register

Slave writes SPDORE

Visible in status register

SLAVEATTN (PB7)

L

Master writes status re gister

40

KDTD_*

Wisible in status register



Master Rabbit

DO-D7 |-

(ICRD

[IOWER

AD

Al

CLE

portout
INTOA

a7
INT1A

/16

First Slave Rabbit
SDO-5D7

fSED

[EWR

f3A0

/sAl SMODEO
/XTALEL

e SMODE!
SLAVEATTN

fECS

Rezet
Pulldow

13 1

41 Rabbit

RAM

13 2

110

Second Slave Rabhbit

FoTS ) Eve e Sy

SMODEO
e e SMODEI!
/SCS
Rabbit

Hardwar e Design of Slave I nter connection

SA0 SAl



SPDOR 20h 0
X SPD1R 21h 1
SPD2R 22h 2
SPSR 23h 3
SPCR 24h N.A.
bug bug
45
45 SPCR  adr=024h
7 wlo 6,5 R/O 4 3,2w/o 1,0w/o
0-- SMODE X 00— A 00—
SMODE smodel,smode0
1-- 01— A pp—
SMODE 1-3
Ix—
— “o ‘1T SMODE1 SMODEO
0 1
SPDOR /0
/O SMODE1 SMODEO 00
7
‘1T SMODEXx
6 5—— SMODE1 SMODEO
3 2—— “ 1 3 A
3 {3 l” 3 113 0‘” 2 A 2:0
2=1
1 0— 00
46
SPDOR

40



46 SPSR  (adr=023h)
7 6 5 4 3 2 1 0
1-- 1— 1— 1— 1— 1— 1— 1—
SPDOR SPD2R SPD1R SPDOR SPDOR SPD2R SPD1R SPDOR
SPSR
13 3
Rabbit
13 3 1 Slave Application
) —_ compute-intensive
° -
o ——Rabbit
o Rabbit
13 3 2 - M aster-Slave M essaging Protocol
byte count
/SLAVEATN
SPDOR SPDOR
SPDOR SPDOR
SPDOR
SPDOR

/SLAVEATTN



Rabbit RAM

SMODE
UART
° SPDOR
° SPDOR
® SPDIR
® /SLAVEATTN SPDOR
SPDOR
SPDOR
SPDOR
SPD1R
SPSR SPDOR
SPD1R SPDOR
SPD1R
SPDOR
SPDOR
14 Rabbit Rabbit Hardwar e Design and Development
Rabbit 2000 Rabbit
Rabbit 25V 3.3V

Rabbit Rabbit Web



14 1 RS485

14 2 RS232

14 4 -

14 5

14 6
Rabbit

32.768kHz

42

70pA

32.768kHz

BIOS

R<35k Q

250A

3V



R2 390 kQ

XTALAZ XTALB? R2
Cl O
e /\/ 33 pF Cl
R1 \:\L:/, 15pF 1 —1
10MQ Rl -
1 MQ — g
D C’fl
XTALAI L 5 pF O -
;; XTALBI 33pF—L
Main Oscillat g
32,768 kHz Circuit R
Safety resistor required by
regulatory agencies.
JAT3 0V
220 Batterv Regulator
23V battery backup power
2MQ I
— O.1gpF %4.3 MQ
..
42
14 7 L ow-Power Design
33V 5v 10.9/25
43% 3.3V 5v
2/3
Rabbit “ ? 32.768kHz
100pA Rabbit 6
Rabbit Rabbit
14 8 Basic Memory Design
/CS0 /OEO0  WEO
SMODEO SMODE1l 00 /CSO /OEO /WEO
RAM /CS1 /OE1 /WE1l /CS1
RAM MMIDR /CS1
83.1 23
/ICS1 20ns
RAM /CS1

RAM /OE1 /WE1 RAM



RAM OE1l
14 8 1 Memory Access Time
1 30% 0
45% 15
14 8 2
Rabbit
/CSO /OEO0 /WEO 0
AOh AAAAh  5555h
Rabbit
Atmel AT29010a 128K*8
/CS1 RAM

; RAM

; RAM 0
Id a,0elh ; 3eel

ioi Id (13h),a ; d3 32 13 00

Id a,3fh ; 3e 3f

ioi Id(12h),a; d3 32 12 00

Id a0 ; MBICR CSO

Id (15h),a; 32 15 00 1
Id a,0aah ; 3e aa

Id (5555h+1000h),a ; 32 55 65
Id a,55h ; 3e 55

Id (2AAAh+1000h),a ; 32 aa 3a
Id a,0a0h ; 3e a0

Id (5555h+1000h),a ; 32 55 65
Id hl,2000h ;21 00 10

Precautions for Unprogrammed Memory

1000h

1000h
3e 00
256K

WE1

Atmel

1000h

AAh 55h



Id (hl),0c3h ; 36 c3

inc hl ; 23Id (hl),00h ; 36 00
inchl; 23

Id (hl),00h ; 36 00

jr* ;18

801401 ; I/O 0000 01
00 00 3e ; 0
0001el

0002 d3

0003 32

0004 12

00 05 00

MBOCR CS1-

002b 18;
00 2c fe ;
8024 80 ; 0

10ms

14 9 PC
" PC
PC

RAM
RAM
RAM A8

RAM

15

8 RAM

RAM
128K*8 RAM 17

Al18 AI9 AO-A17

1024
512 128K
7 AO0-A6

RAM

Rabbit

PC Board Layout and Memory Line Permutation

PC

RAM
8 A15
D8 RAM D3
PC

512K*8 RAM 19

512K
128
A7 A8



10 05555h
OAAAAh 16
55h AAh  AOh
15 AC AC Timing Specification
Rabbit2000 25V 55V -40 80 -55
120 5.0v 3.3V Rabbit 3.3V
5V
Rabbit—R30 29.4MHz -40 +85 R30 3.3V
+ 10% 189MHz 2.5V 11.5MHz
40%
4%
14.7456MHz 29.4912MHz 70
3v 35
47 Rabbit
2.50V min. 3.3Vt 10% | 3.3V+ 5% | 5.0V+ 10% | 5.0V 10%
-40 -+85 -40 -+85 -40 -+70 -40 -+85 -40 -+70
11.5MHz 17.5MHz 19.25MHz 29.5MHz 31L.5MHz
11.06MHz 16.75MHz 185MHz 28.5MHz 30.0MHz
20pF 15ns 1lins 10ns 8ns 7ns
70pF 27 ns 21 ns 19ns 15ns 14 ns
T setup 4ns 4ns 3ns 3ns 2ns
2000.08.01
85 70 -40
7% 5 1.2%
1.8432MHz
57,600bps 19,200bps 3.6862MHz
115,200bps  38,400bps 1.2288MHz 38,400bps
Rabbit BIOS 0.6144MHz
43 44 Rabbit 2000



die

5v 65mA 15
48
interfacing
1 = * 2+
Tadr Tl
Taar / /o |/
0.8v 20V Tewp VDD
Tadr 0.8v
1
48

Thold
T1
05 CPU

1/0

49

4 W
3%

'Tsetup'Tadr

Tsetup Tsetup

45 47 5 TTL
30%/70%
Tadr — AO
Tadr
4%
1%/5
Rabbit 2
Thold

Thold WEX IOWR



Maximum Frequency (MHz)

-0 30 10 10 30 50 70 80 110
Temperature (°C)

43 Rabbit 2000
5V 33V

+« 50V
33V

50.00
45.00
40.00
35.00
30.00
E 25.00
$ 20.00
15.00
10.00
5.00
0.00

(MHz)

2 3 4 5
Voltage (V)

44 Rabbit 2000
25

on




48 V+ 5% T-40 +70
PC-
MHz ns 5V 20pF 5V 70pF bps
ns ns
29.4912 34 0 59 52 921,600
27.6840 36.2 0 64 57 57,600
25.8048 38.7 0 69 62 115,200
25.8048 38.7 1 108 101 115,200
25.8048 38.7 2 147 140 115,200
24.576 40.7 0 73 66 38,400
23.9616 41.7 0 75 68 57,600
22.1184 45.2 0 82 75 230,400
22.1184 45.2 1 127 120 230,400
22.1184 45.2 2 173 165 230,400
20.2752 49.3 0 90 83 57,600
18.432 54.2 0 100 @5V 93 @5V 115,200
96 @3.3V 87 @3.3V
14.7456 67.8 0 127 @5V 120 @5Vv/ 460,800
123 @3.3V 114 @3.3V
14.7456 67.8 1 197 @5V/ 190 @5V/ 460,800
193 @ 3.3V 184 @3.3V
11.0592 90.5 0 172 @5V 165 @5V/ 115,200
168 @3.3V 159 @3.3V
162@2.5V(min) | 150@2.5V(min
7.3728 135.6 0 263 @5V/ )256 @5sVv/ 230,400
259 @3.3V 250 @3.3V/

253 @2.5V(min)

241@2.5V(min
)




Memory Read (no wait states)

T ——fe—T2 —
CLK —III ! |
A[19:0] ZX i X
- v Tagr ' !
1 1 Tsetu -"': :"-
D[7:0] — O
: : 1 Thoi
ICSXx — X o= %

JOEx ——7 X

Memory Write (no extra wait states)
« M——fe——Tw—f 712

.
CLK _|. ; . !
A[19:0] ——X = :
_": L'_Tadr : : :
D[7:0] — "¢ ; vahd i

.I;CSX >< valud
: : ! Thnldi"—:_""
IWEx 7 N\ : A




Memory Read (one wait state)

l T1 ole Tw——— T2 N
CLK —IIl ! |
A[19:0] X T X
_": :"_Tadr : : !
1 : : Tsetup-": :"-
D[?U] : l{ | X valid }—
' , ; Thola ™ 1=
ICSx X — ¢
IOEx ——7 \ 5 e
Memory Write (one wait state) |
e T ——f——Tw——fe Twt— e I
CLK , , . |
A[19:0] TX i ' X
- M Tadr : : : X
D[?[}] : :{ I vilud ] fl—
/CSx X valid »e
: : :  Thowr———
/WEX — 7 1\ : : A




External I/0 Read (no extra wait states)
k L — Tw ok T2

CLK —l

A[15:0] X : T ™
- o Tadr : H O
i : ' Togtup = 1=
D[7:0] — 4 : 3 valid p—
: : T T
ICSx __/ | | N
=~ L
1 ] I |
10CSx ——X ' — —C
/IORD —; \ : :
/BUFEN ! ! . )
External 110 Write (no extra wait states)
| T . Tw | T2
CLK —II . ; !
L i i |
A[15:0] _T X valid )
> T : :
D[7:0] — 4 " valid B
/CSx / X ' Poh
I i I 1 i
i [} I 1 I
: ; : .
I0CSx ). valid K
| L] I 0 ] |
! ' y Thad )
NTOWR N : / i
l : : : |
/BUFEN T \ BN

471/0



49 1o/

Tadr CPU Max. | 7ns @20pF,5V(10ns @3.3V)
14ns @70pF,5V(19ns @3.3V)
Tsetup Min. | 2ns @5V (3ns @3.3V)
Thold Min. | Ons
Taar CPU Max. | 7ns @20pF,5V(10ns @3.3V)
14ns @70pF,5V(19ns @3.3V)
Thotd /WEX Min. | 1/2 CPU
NOWR
15 1 Current Consumption
6mA 5V 2mA 3V
5V 15MHz 42mA
2 1= 0.7 *(  MH2*( )+(0.35*( -0.86)
0 50
50 25
MHz \% mA
29.4912 5 109
2211 5 83
14.7456 5 58
14.7456 3.3 36
7.3728 3.3 19
3.6864 3.3 u
1.8432 3.3 6
0.9216 3.3 6
0.4608 3.3 3.14
0.032 5 0.280
0.032 4 0.173
0.032 3.3 0.113
0.0320 2.7 0.072

32.768kHz 3V 23p A 2.25V



1y A 32.768kHz

3 uA =544* \-086 °
\%
1.3V 32.768kHz 390k Q
15pF 10MQ
32.768kHz
4 uA =75
3.0v 67u A 25u A
R2u A 32.768kHz
RAM RAM
RAM RAM RAM
floating inputs
D
16 Rabbit Rabbit Software
Rabbit
Dynamic C Dynamic C
16 1 /O shadow registers
Rabbit 110 /O 110
ioi ioe /0
Dynamic C /O C
1 A
value=x+y
#asm
Id a,(value) ;
ioi Id (PADR),a ; PADR
#endasm
ioi /0 ioe /0
/0

1 110



int RdPortl(int PORT); // 0

int BitRdPortl( int PORT, int bitcode) ; //
I8

1 NULL

void WrPortl(int PORT, char *PORT Shadow, int value);

1 ( 7,6,..1,0 )

void BitWrPortl(int PORT, char *PORT Shadow, int value, int bitcode);
1 1/0

int RdPortE(int adr); // 0

int BitRdPortE( int PORT, int bitcode) ; //

int WrPortE(int PORT, char * PORT Shadow, int value);
int BitWrPortE( int PORT, char *PORT Shadow, int value, int bitcode);

k=RdPortl (PDDRY; // D

k=GCSRShadow;

WrPortl (GCSR,& GCSRShadow,value); //
BitWrPortl (GCSR,& GCSRShadow,1,5); // GCSR

WordPortl
BitWrPortl
16 2
Rabbit /0
110
PADR A
BIOS
/! /O —

1

char PADRShadow,PBDRShadow, PCDRShadow, PCFRShadow;

NULL

PADRShadow

char PDDRShadow, PDCRShadow, PDFRShadow, PDDCRShadow, PDDDRShadow;

char PEDRShadow, PECRShadow, PEFRShadow, PEDDRShadow;

char GCSRShadow; Il /



char GOCRShadow; Il
char GCDRShadow; 1

110
D
D 8 8
PDDDR
Id hl,PDDDRShadow X
Id de,,DDDR ; de /0
st 5,(hl) ; 5
; Idd
ioi 1dd ; (io de)<-(hl) : hl--, de--
1/0 |dd
ldd
Id a,(hl)
|d (PDDDR),a ; PDDDR
16 3
48

Dynamic C

PDDDR
13 1”
PDDDR
110 set  |dd
PDDDR
110
PDDDR
ldd
PDDDR
PDDDR
Rabbit
Rabbit
32768 32.768kHz
32.768kHz
22.184MHz
0.5%

SEC_TIMER SEC_TIMER



SEC_TIMER
2116
6

unsigned long int read_rtc(void); //
void write_rtc(unsigned long int time); //

1980 1

1 0-14 a7

1

SEC_TIMER

SEC_TIMER
2

MS TIMER

15-46
15-46

2000-1-10 17:34:12

unsigned long mktime(struct tm *timeptr);

1

unsigned int mktm(struct tm *timeptr, unsigned long time);

struct tm {
char
char
char
char
char
char
char
3
setclock.c
16 4

DynamicC

tm_sec;
tm_min;
tm_hour;
tm_mday;
tm_mon;
tm_year;
tm_wday;

Dynamic C

/I 059
/Il 0-59
/I 0-23
Il 1-31
Il 1-12
/l 00-150  (1900-2050)
/I 06 O0==

bug

15-46
1980 136
MS TIMER
1980-1-1



hits
16

16 4 1

Rabbit BIOS
2 WDTCR
17 32768Hz 32.768kHz

16 4 2
10 #define
#defineN_ WATCHDOG 15 // 10

N= VdGetFreewWd(char count); // count/16

VdHitwd(int N); //

VdReleasewd(int N); //

17 Rabbit BIOS

Rabbit BIOS Rabbit

bug Z-World  BIOS

BIOS

BIOS BIOS

hitwd()

Z-World

BIOS



BIOS Rabbit BIOS

17 1BIOS
BIOS
BIOS BIOS BIOS
BIOS
BIOS DynamicC
BIOS
BIOS
ticks 1980
BIOS
- Modbus
17 2 BIOS BIOS Assumption
BIOS /CS1 WE1 /OE1l
/C0 WEO /OEO n*0.6144* 3MHz
4*0.6144MHz
17 3 BIOS
32.768kHz 16
488y s 32.768kHz Z-World
32.768kHz
65536/2048=32 16
32000 16

2048



real-time kernel

35
17 3 1
— BIOS
1980
17 3 2
16
17 3 3
16-1
500-1
3
17 3 4
BIOS

identification block

BIOS

30u s

function dlicing

0
BIOS
0
8
32.768kHz
150u s
16
BIOS
primary code memory
/CS0 /WEO

128

10ms

/OEOQ



18

16
16

O 00 O 00

Rabbit

Load Immediate Data
8-bit Indexed Load and Store

20
Registersto Registers M oves
ExchangeInstructions
Stack Manipulation Instructions
16-bit Arithmetic and L ogical Operations

8-bit Bit Set,Rest and Test Insturctions
8-bit Increment and Decrement
A 8bit Fast A register Operations
8-bit Shifts and Rotates
Instruction Prefix
Block Move Instructions

-- Control InstructionsJumps and Calls

Miscellaneous | nstructions

Privileged Instructions

Instructionsin Alphabetical Order with Binary Encoding

Spreadsheet Conventions

ALTD * A
flag
f ALTD
fr ALTD
r ALTD
S ALTD
IOl ICE “ I”
b IOl IOE
d 10l IOE
S IOl IOE




I~

S LIV | C
*
L LV
\Y LV
0 LV
* LV
*
0
1
/ _ 4 AV |
0 LIV O
Symbols
Rabbi | 7180
t
B b
000= 0 001= 1 010= 2 011= 3
100= 4 101= 5 110= 6 111= 7
Cc cc
00=NZ 01=Z 10=NC 11=C
D d 7
Dd ww 00=BC 01=DE 10=HL 11=SP
dd 00=BC® 01=DE" 10=HL"
E j 8 PC
F f
000=NZ 0 001=Z O
010=NC 001=C
100=LZ* 0 101=LO? 1
110=P 111=M
M m 16 M SB
Mn mn 16
N n 8 16 LSB
rr 0,9
000=B 001=C 010=D O011=E 100=H 101=L 111=A
V Y
010=0020h 011=0030h 100=0040h 101=0050h 111=007Ch
XX XX 00=BC 01=DE 10=IX 11=SP
Yy vy 00=BC 01=DE 10=lY 11=SP
Z7 7z 00=BC 01=DE 10=HL 11=AF




n
SN
[EEN
[EEY

Load Immediate Data

dk A IszvcC
LD IX,mn 8 IX = mn
LD IYmn 8 1Y =mn
LD ddmn 6 r dd =mn
LD rn 4 r r=n
Load and Stor to an Immediate Address
dk AlSzvC
LD (mn)A 10 d---- (mn)=A
LD A(mn) 9 ro s---- A = (mn)
LD (mn)HL 13 d---- (mn)=L; (mn+1l) =H
LD (mn),IX 15 d---- (mn) =1XL; (mn+1) = IXH
LD (mn),lY 15 d---- (mn)=1YL; (mn+l) =1YH
LD (mn)ss 15 d---- (mn) = sd; (mn+1) = ssh
LD HL,(mn) 11 ro s---- L = (mn); H = (mn+1)
LD IX,(mn) 13 S---- IXL = (mn); IXH = (mn+1)
LD 1Y,(mn) 13 S---- IYL =(mn); IYH = (mn+1)
LD dd,(mn) 13 ros---- ddl = (mn); ddh = (mn+1)
8
dk AlSzvC
LD A,(BC) 6 ros---- A =(BC)
LD A,(DE) 6 r s---- A = (DE)
LD (BC),A 7 d---- (BC)=A
LD (DE)A 7 d---- (DE)=A
LD (HL),n 7 d---- (HL)=n
LD (HL)r 6 d---- (HL)=r=B,C,D,E,H,L,A
LD r,(HL) 5 r S---- r =(HL)
LD (IX+d),n 11 d---- (IX+d)=n
LD (IX+d),r 10 d---- (IX+d)=r
LD r,(IX+d) 9 r S---- r = (I1X+d)
LD (IY+d),n 11 d---- (IY+d) =n
LD (IY+d)r 10 d---- (ly+d) =r
LD r,(IY+d) 9 r S---- r=(1Y+d)



16

dk

LD (HL+d)HL 13
LD HL,(HL+d) 11

LD (SP+n),HL
LD (SP+n),IX
LD (SP+n),lY

11
13
13

LD HL,(SP+n) 9

LD IX,(SP+n)
LD IY,(SP+n)
LD (IX+d)HL
LD HL,(1X+d)
LD (1Y+d),HL
LD HL,(1Y+d)
16
LDP (HL),HL
LDP (IX),HL
LDP(1Y)HL
LDP HL,(HL)
LDP HL ,(I1X)
LDP HL,(Y)
LDP (mn),HL
LDP (mn),IX
LDP (mn),lY
LDP HL,(mn)

LDP 1X,(mn)

LDP1Y,(mn)

12

10

10

10

15

15

15

13

Al1SzvVC
d----
rs----

-
nw o n a
1 1

ol

r

20
A lISzZvVC

(HL+d) =L; (HL+d+1) =H

L = (HL+d); H = (HL+d+1)
(SP+n) =L; (SP+n+l1) = H

(SP+n) = IXL; (SP+n+1) = IXH

(SP+n) =1YL; (SP+n+1) = IYH
L = (SP+n); H = (SP+n+1)

IXL = (SP+n); IXH = (SP+n+1)
IYL = (SP+n); I'YH = (SP+n+1)
(IX+d) =L; (IX+d+1) =H
L = (IX+d); H = (1X+d+1)
(IY+d) =L; (IY+d+1) = H
L=(Y+d); H=(Y+d+1)

(HL) = L; (HL+1) = H.
(Adr[19:16] = A[3:0])
(IX) = L; (IX+1) = H.
(Adr[19:16] = A[3:Q])
(1Y) = L; (1Y+1) = H.
(Adr[19:16] = A[3:Q])

L = (HL); H = (HL+1).
(Adr[19:16] = A[3:Q])

L = (IX); H = (IX+1).
(Adr[19:16] = A[3:0])

L =(Y); H=(Y+1).
(Adr[19:16] = A[3:0])

(mn) = L; (mn+l) = H.
(Adr[19:16] = A[3:0])

(mn) = IXL; (mn+l) = IXH.
(Adr[19:16] = A[3:Q])

(mn) = 1YL; (mn+l) = IYH.
(Adr[19:16] = A[3:Q])

L = (mn); H = (mn+1).
(Adr[19:16] = A[3:Q])

IXL = (mn); IXH = (mn+1).
(Adr[19:16] = A[3:0])

IYL = (mn); IYH = (mn+1).
(Adr[19:16] = A[3:Q])



LD rg

LD A.EIR
LD AJlIR
LD A XPC
LD EIRA
LD IIRA
LD XPCA
LD HL,X
LD HL,IY
LD IXHL
LD IY,HL
LD SPHL
LD SPIX
LD SPIY
LD dd',BC

LD dd',DE

EX (SP)HL
EX (SP),IX
EX (SP)|Y
EX AFAF'
EX DE'HL 2

EX DE'HL'
EX DE,HL

EX DEHL'
EXX

LDP 64K
LDP 2
Oxn,0xFFFF Oxn,0xFFFF
O0xn,0xFFFF  0x(n+1),0x0000
OxFFFF LDP
ck A ISZVC
2 r r=g¢g r,gany of B,
C,D,E,H, LA
4 fr ko A=EIR
4 fr ko A=IIR
4 r A=MMU
4 ---- EIR=A
4 [IR=A
4 .- -- XPC=A
4 r HL =1X
4 r ---- HL = 1Y
4 IX=HL
4 Y =HL
2 SP=HL
4 SP=1IX
4 ---- SP=1Y
4 ---- dd' = BC (dd': 00-BC',
01-DE', 10-HL")
4 ---- dd' = DE (dd': 00-BC',
01-DE', 10-HL")
dk A 1SzvVC
15 r ---- H <-> (SP+1); L <->(SP)
15 ---- IXH <-> (SP+1); IXL <->(SP)
15 I'YH <-> (SP+1); 1YL <-> (SP)
2 ---- AF <->AF'
S ---- if {ALTD) then DE' <-> HL
else DE' <-> HL'
4 S DE' <-> HL'
2 S ---- if '{ALTD) then DE <-> HL
else DE <-> HL'
4 S ---- DE <-> HL'
2 ---- BC <> BC'; DE <-> DE';

HL <->HL'

0xn,0x0000



EX DEHL

la|F| [EfL] [DJ]E| [B]C]
EX AF,AF S——%

t EKDEJ-;><'EKDE‘,I—IL

EN i (o[ E] [B]C]

EXX - exchange HLHL".DE,DE" BCBC’
EXDEHL’

dk A 1SzVC

ADD SPd 4 f ---* SP=SP+d--d=0to 255

POP IP 7 IP=(SP); SP=SP+1

POP 11X 9 ---- IXL =(SP); IXH = (SP+1);
SP = SP+2

POP IY 9 IYL = (SP); IYH = (SP+1);
SP = SP+2

POP zz 7 r ---- zZl = (SP); zzh = (SP+1);

SP=8P+2 -- zz= BC,DE,HL ,AF

PUSH IP 9 ----  (SP-1)=IP;SP=SP-1

PUSH X 12 ----  (SP-1) =IXH; (SP-2) = IXL;
SP=SP-2

PUSH 1Y 12 ---- (SP-1) =1YH; (SP-2) = IYL;
SP=5pP-2

PUSH zz 10 ---- (SP-1) = zzh; (SP-2) = zz;
SP=SP-2 --zz= BC,DE,HL ,AF

16

ck A I1SzVvC
DC HL,s 4 fr **V* HL=HL +ss+CF - ss=BC,

DE, HL, SP

ADD HL,ss 2 fr --- HL =HL +ss

ADD IXxx 4 f ---F IX =1X +xx -- xx=BC,
DE, IX, SP

ADD 1IY,yy 4 f --- lY =1Y +yy - yy=BC,
DE, IY, SP

ADD SPd 4 f --- SP=SP+d--d=0to 255

AND HLDE 2 fr ** L0 HL=HL & DE

AND IX,DE 4 f **L 0 IX=IX&DE

AND 1Y ,DE 4 f **L 0 lY=IlY&DE

BOOL HL 2 fr **00 If(HL!=0) HL =1,



BOOL 1X
BOOL 1Y
DEC IX
DEC 1Y
DEC ss

A N NS

N

INC IX
INC 1Y
INC ss 2

IS

MUL 12
OR HL,DE 2
OR IX,DE 4

OR 1Y ,DE 4
RL DE 2
RR DE 2
RR HL 2
RR IX 4
RR 1Y 4

SBC HL,ss 4

8
dk

ADC A,HL) 5
ADC A,(IX+d) 9
ADC A,(IY+d) 9
ADC An 4
ADC Ay 2
ADD AHL) 5
ADD A,(IX+d) 9
ADD A(IY+d) 9
ADD An 4
ADD A
AND (HL)
AND (IX+d)
AND (1Y +d)
AND n
AND r
CP* (HL)
CP* (IX+d)
CP* (IY+d)

© O NP oo g N

f **00
f **00
r _———
r _————
fr **L O
f **L O
f **LO0
fr **L*
fr **L*
fr **L*
f **L*
f **L*
fr **V*
A ISzvcC

fr s**V=*
fr s**V=*
fr s**V=*
fro **V~*

fro **Vv*

fr s**V*
fr s**V?*
fr s**V=*

fr RAVE:
fr **V*
fr s** L0
fr s**LO0
fr s**L 0
fr ** L0
fr **L O
f S**V*
f S**\Vx*

S**V*

HL
If(IX!1=0)IX=1
if(1Y!1=0)1Y =1
IX=1X -1
IlY=1Y -1
ss=ss-1- ss= BC,
DE, HL, SP
IX=IX+1
IlY=1Y+1
ss=ss+ 1-- ss= BC,
DE, HL, SP
HL:BC =BC * DE, 32
HL =HL | DE —
IX =1X | DE
Y =1Y | DE
{CY DE} = {DE,CY} -
CF
{DE,CY} ={CY,DE}
{HL,CY} ={CY HL}
{IX,CY}={CY.IX}
{IY,CY}={CY,IY}
HL=HL-ss-CY
(cout if (ssCY)>hl)

A=A+ (HL)+CF
A=A+ (IX+d) + CF
A=A+ (Y+d) +CF
A=A+n+CF
A=A+r+CF
A=A+ (HL)
A=A+ (IX+d)
A=A+ (1Y+d)
A=A+n
A=A+r
A=A& (HL)
A=A & (IX+d)
A=A& (IY+d)
A=A&n
A=A&t
A-(HL)
A- (IX+d)
A-(1Y+d)

DE



CP* n f  *xV* A-n

CP* r G VA A—r

OR (HL) fr s** L0 A=A|(HL)

OR (I1X+d) fr s**L 0 A=A|(X+d)

OR (1Y+d) fr s** L0 A=A|(IY+d)

OR n fr **L0 A=A]|n

ORr fr **1 0 A=A|r

SBC* (I1X+d) fr s**V* A=A-(IX+d)-CY
SBC* (1Y+d) fr s**V* A=A-(lY+d)-CY
SBC* A,(HL) fr s**V* A=A-(HL)-CY

4

2

5

9

9

4

2

9

9

5

SBC* An 4 fr **V*  A=A-n-CY (cout if (-CY)>A)

SBC* Ar 2 fr **\V*  A=A-r-CY (cout if (r-CY)>A)

SUB (HL) 5 fr s**V* A=A-(HL)

SUB (IX+d) 9 fr s**V* A=A-(IX+d)

SUB (1Y+d) 9 fr s**V* A=A-(IY+d)

SUB n 4  fr **\V*  A=A-n

SUB r 2 fr **Vv* A=A —r

XOR (HL) 5 fr s**L0 A=[A& ~(HL)]|[-A & (HL)]

XOR (1X+d) 9 fr s** L0 A=[A& ~(IX+d)] | [-A & (IX+d)]

XOR (1Y+d) 9 fr s** L0 A=[A& ~(IY+d)] | [-A & (IY+d)]

XOR n 4 fr **1L 0 A=[A& ~n]|[-A&n]

XOR r 2 fr ** L0 A=[A& ~]|[-A&T]

*SBC CP A-B A<B C A>=B
SUB SBC CP

8
dk A 1SzZVC
BIT b(HL) 7 f s-*-- (HL)& bit
BITb,(IX+d)) 10 f s-*-- (IX+d) & bit
BIT b(IY+d)) 10 f s-*-- (IY+d) & bit
f

BIT byr 4 -* - r & hit

RES b,(HL) 10 d---- (HL)=(HL) & ~bit
RES b,(IX+d) 13 d---- (IX+d) = (1X+d) & ~bit
RES b,(IY+d) 13 d---- (IY+d) =(Y+d) & ~bit
RES br 4 ro---- r=r & ~bit

SET b,(HL) 10 b---- (HL)=(HL)|bit

SET b,(IX+d) 13 b ----  (IX+d) = (1X+d) | bit
SET b,(IY+d) 13 b ----  (Y+d)=(Y+d) | bit

SET br 4 r ----  r=r|hit



8
dk A 1SzvVvC

DEC (HL) 8 f b**V- (HL)=HL)-1
DEC (1X+d) 12 f b**V- (IX+d) = (IX+d) -1
DEC (I1Y+d) 12 f b**V- (IY+d)=(IY+d) -1
DEC r 2 fr **V - r=r-1
INC (HL) 8 f b**V- (HL)=(HL) +1
INC (IX+d) 12 f b**V- (IX+d)=(X+d) +1
INC (IY+d) 12 f b**V- (IY+d)=(1Y+d) + 1
INC r 2 fr **V - r=r+1

8 A

ck A1SZvVC

CcPL 2 r s A=-A
NEG 4 frr **V~* A=0-A

RLA 2 fr ---* {CYA}={ACY}

RLCA 2 fr ---*  A={A[60A[7]}; CY =A[7]
RRA 2 fr ---* {ACY}={CY.A}

RRCA 2 fr ---*  A={A[OJA[71]}; CY = A[0]

8
RL.RLA L C ls— - SLA | C fes—
I

RR RRA |, ol SRL [ ]
RRC, RRCA . 1IN

dk A 1Szvc
RL (HL) 10 f b**L* {CY,(HL)} = {(HL),CY}
RL (IX+d) 13 f b** L * {CY,(IX+d)} = {(IX+d)CY}
RL (IY+d) 13 f b** L * {CY,(Y+d)} = {(IY+d)CY}

RL r 4 fr **L* {CYr}={CY}
RLC (HL) 10 f b**L* (HL) = {(HL)[6,0],(HL)[7]};
CY = (HL)[7]

RLC (IX+d) 13 f b** L * (IX+d) = {(X+d)[6,],
(IX+d)[7]}; CY = (IX+d)[7]



RLC (1Y+d)
RLC r

RR (HL)
RR (IX+d)
RR (1Y+d)
RR r

RRC (HL)
RRC (I1X+d)
RRC (1Y+d)
RRC r

SLA (HL)
SLA (IX+d)
SLA (IY+d)
SAT

SRA (HL)
SRA (IX+d)
SRA (1Y +d)
SRA r

SRL (HL)
SRL (1X+d)

SRL (1Y+d)

RL r

13
4
10
13
13
4
10
13

13

10

13

13

10

13

10

13

13

4

f b**L* (IY+d) = {(IY+d)[6,0], (1Y+d)[7]};

fr

f

fr

f

f

fr

f

f

fr

f

f

f

fr

f

f

f

CY = (HL)[Q]
b**L* (IX+d) = {(IX+d)[0], (IX+d)[7,1]};
CY = (IX+d)[0]
b**L * (Y +d)={(1Y+d)[O],(1Y+d)[7,1]};
CY = (1Y+d)[0]
*x L * ¢ = {r[0],r[7,1]};
CY =r[0]
b**L* (HL)={(HL)[6,0],0};
CY =(HL)[7]
f b**L* (IX+d) = {(IX+d)[6,0],0};
CY = (IX+d)[7]
b**L* (IY+d) = {(1Y+d)[6,0],0};
CY = (1Y+d)[7]
*x L*  r ={r[6,0],0};
CY =r[7]
b**L* (HL) = {(HL)[7,(HL)[71]};
CY =(HL)[Q]
b**L* (IX+d)={(IX+d)[7], (IX+d)[7,1]};
CY = (IX+d)[0]
b**L* (Y+d)={(Y+d)[7], (1Y+d)[7,1]};
CY = (1Y+d)[0]
L r={r[7r[7a}
CY =r[Q]
b**L* (HL)={0,HL)[71]};
CY =(HL)[Q]
b**L=* (IX+d) = {0,(1X+d)[7,1]};
CY = (IX+d)[0]
b**L * (IY+d) = {O,(1Y+d)[7,1]};
CY = (1Y+d)[0]
o r = {0r[7,1]};

fr

CY = (1Y+d)[7]

**Lxor={r[60r[7]}; CY =r[7]

f b**L* {(HL),CY} = {CY,(HL)}

b**L* {(IX+d),CY} = {CY,(IX+d)}

f b**L* {(IY+d),CY} = {CY,(IY+d)}
** L * {rCY} = {CY.r}

f b**L* (HL) = {(HL)[O.(HL)[7.1]};

CY =r[(]



dk A l1SzvC

ALTD 2 .-
IOE 2 ---- 1/0
10l 2 ---- 1/0

dk A 1SzvVC

LDD 10 d--*- (DE) = (HL); BC = BC-1;
DE = DE-1; HL = HL-1
LDDR 6+7i d--*- if {BC != 0} repeat:
LDl 10 d--*- (DE) = (HL); BC =BC-1,
DE = DE+1; HL =HL+1

LDIR 6+7i d--*- if {BC !'= 0} repeat:

/O 110 10l

IOE /0 BC
\Y \Y
LDD LDI
1/0

dk A ISZVC

CALL mn 12 (SP-1) = PCH; (SP-2) = PCL;
PC =mn; SP =SP-2

DJINZ j 5 r B=B1;if{B!=0} PC=PC +]j

JP (HL) 4 PC = HL

JP (I1X) 6 PC =1X

JP (1Y) 6 PC=1Y

JP f,mn 7 If {f} PC=mn

JP mn 7 PC =mn

JR cce 5 if {cc; PC=PC + e

JR e 5 ---- PC=PC+e( e=0 )

LCALL xpcmn 19 ----  (SP-1) = XPC; (SP-2) = PCH;

(SP-3) = PCL; XPC=xpc;
PC =mn; SP = (SP-3)

LJP xpc,mn 10 ---- XPC=xpc; PC = mn
LRET 13 PCL = (SP); PCH = (SP+1);
XPC = (SP+2); SP = SP+3
RET 8 ---- PCL = (SP); PCH = (SP+1);
SP =SP+2
RET f 8/2 ---- if {f} PCL = (SP); PCH = (SP+1); SP = SP+2

RETI 12 ---= IP = (SP); PCL = (SP+1);

/0
1



RST v 10

A1SZVC

CCF
IPSET O
IPSET 1
IPSET 2
IPSET 3
IPRES
LDA.EIR
LD AJlIR
LDAXPC
LD EIRA
LD IIRA
LD XPCA
NOP

POP IP
PUSH IP
CF
ZINTACK 10

N
@\l'\)bbhhhbb#bhbm%
—
-
*

LD SPHL ;
LD SPlY
LD SP,IX

LD SPHL
IOl LD (STACKSEG)A

r - — -

fooo---1

PCH = (SP+2);
(SP-1) = PCH; (SP-2) = PCL;
SP=SP- 2, PC = {Ry)

v=10,18,20,28,38

CF =~CF

IP = {IP[5:0], 00}
IP = {IP[5:0], 01}
IP = {IP[5:0], 10}
IP ={IP[5:0], 11}
1P ={IP[1:0], IP[7:2]}

A =EIR
A=1IR
A=MMU
EIR=A
IIR=A
XPC=A

IP = (SP); SP = SP+1
(SP-1) = IP; SP = SP-1

CF=1

(SP-1) = PCH; (SP-2) = PCL;

SP = SP-2;

IP = {IP[6:

SP = SP+3

SSEG



IPSET 0 ; IP 10

IPSET 1
IPSET 2
IPSET 3
IPRES ; IP
POP IP IP

IP

RETI IP

RETI IP

LD AXPC; XPC

LD XPC,A

LD XPC A

BIT B,(HL) ;

BITB HL

BIT B,(HL)

SET B,(HL)
JP z,ihaveit

SET BIT
SET

00

LD XPC

BIT

SET

BIT



19 Rabbit Z80/2180
Rabbit 780 7180 /0
/0 Z80/Z2180 Dynamic C

Z80/2180

DAA, HALT, DI, EI,IM O, IM 1, IM 2, OUT, IN, OUTO, INO, SLP, OUTI, IND, OUTD, INIR, OTIR,
INDR, OTDR, TESTIO, MLT SP, RRD, RLD, CPI, CPIR, CPD, CPDR

/O /O
MLT SP, DAA, RRD, RLD, CPI,CPIR,CPD CPDR MLT SP
DAA RRD RLD
push pop af
CPlI CPIR CPD CPDR

RST 0, RST 8, RST 30h

RST EIR
RST call
Dynamic C

EX (SP),HL - OE3h OEDh-054h

LDAEIR

LD EIRA ' R
LD IIR,A

LD AJIR il

Z80/2180

CALL CC,ADR

JR (JP) ncexxx ;
CALL ADR  xxx:
TSTR ( (HL),n)



PUSH DE

PUSH AF

AND r ( (HL), n)

POP DE
LDAd
POP DE

20

v
LV

/

h

ALTD * A

ALTD

fr

ALTD

ALTD

ALTD

10l

ICE “

In

b 10l

IOE

d 10l

IOE

IOIE

IOE

le_/V C

L/V

LIV

L/V

*lo|l<|

L/V

1 LWV

1




L L

Symbol

Rabbit | Z180
b b
000= 0 001= 1 010= 2 O011= 3
100= 4 101= 5 110= 6 111= 7
cc cc
00=NZ 01=Z 10=NC 11=C
d d 7
dd ww 00=BC 01=DE 10=HL 11=SP
dd’ 00=BC® 01=DE" 10=HL"
e i 8 PC
f f
000=NZ 0 001=Z O
010=NC 011=C
100=L Z* 0 101=LO? 1
110=P 111=M
m m 16 MSB
mn mn 16
n n 8 16 LSB
rr 0,9
000=B 001=C 010=D O011=E
100=H 101=L 111=A
Ss ww 00=BC 01=DE 10=HL 11=SP
% v
010=0020h,011=0030h,100=0040h
101=0050h,111=0070h
XX XX 00=BC 01=DE 10=IX 11=SP
yy yy 00=BC 01=DE 10=lY 11=SP
7z 7z 00=BC 01=DE 10=HI 11=AF




A

A 1 Rabbit
Rabbit Dynamic C
PC 10 2mm
PC
PC DTR
CMOS STATUS Rabbit
SMODE +5V/+3V 5k Q
+5V  +3V
RS—232
PROGRAMMING PORT PIN ASSIGNMENTS
(Rabbit PQFP pins are shown in parenthesis)
=5 ki1
. ez 1. RXA(51) — — — — — —AAA +
e @4 2. GND ~500 ki1
A E 3. CKLKA (94) — — — — —AAN~ +
4. +5VH3IV
o ols E RESET & — — — — — ~5 kil . Eﬁf;
o @ @ |10 6. THA(B4)
7. nc.
Programming Port 8. STATUS (output) (38) ...
Pin Mumbers 9. SMODEOD (36) — — — —“"'-.-"'"-.-"'"-.r— GND
10. SMODE1 (35) — — — % GND
48 Rabbit
A 11 Diagnostic/Setup
PC /RESET PC DTR
STATUS DSR PC pulsing reset
2400bps
BIOS 80h 24h 80h BIOS PROG
SMODEO SMODE1 BIOS
Dynamic C escape message
SMODEXx SMODEx

RXA  CLKA



TXA RXA
STATUS

PC

PC

A 2 Rabbit
48
29.5MHz

PC IR

TXA

10

Rabbit

EIR

Rabbit

IR

TXA
SMODE

IP

PC6

CPU

PC

X1

PC

PC6

PC

SMODE

SMODEX

SP

SMODE

110

CPU



51

1/0 R/W

GCSR 0x0 R/W 1100 0000
RTCCR Ox1 W 0000 0000
0 RTCOR 0x2 R/W XXXX XXXX
1 RTCIR 0x3 R XXXX XXXX
2 RTC2R 0x4 R XXXX XXXX
3 RTC3R 0x5 R XXXX XXXX
4 RTC4R 0x6 R XXXX XXXX
5 RTC5R 0x7 R XXXX XXXX
WDTCR 0x8 W 0000 0000
WDTTR 0x9 W 0000 0000
GOCR OXE W 0000 0x00
GCDR OxF W XXxx X000
MMU / MIMIDR 0x10 R/W xxx0 0000
STACKSEG Ox11 R/W 0000 0000

Z180 CBR
DATASEG 0x12 R/W 0000 0000

Z180 BBR

SEGSIZE 0x13 R/W 1111 1111
Z180 CBAR

0 MBOCR 0x14 W 0000 0000
1 MBI1CR 0x15 W XXXX XXXX
2 MB2CR 0x16 W XXXX XXXX
3 MB3CR 0x17 W XXXX XXXX
SPDOR 0x20 R/W XXXX XXXX
SPD1R 0x21 R/W XXXX XXXX
SPD2R 0x22 R/W XXXX XXXX
SPSR 0x23 R 0000 0000
SPCR 0x24 R/W 000x 0000
A PADR 0x30 R/W XXXX XXXX
B PBDR 0x40 R/W XXXX XXXX
C PCDR 0x50 R/W X0x0 x0x0
C PCFR 0x55 W Xx0x0 x0x0
D PDDR 0x60 R/W XXXX XXXX
D PDCR 0x64 W xx00 xx00
D PDFR 0x65 W XXXX XXXX
D PDDCR 0x66 W XXXX XXXX
D PDDDR 0x67 W 0000 0000
D O PDBOR 0x68 W XXXX XXXX
D 1 PDB1R 0x69 W XXXX XXXX
D 2 PDB2R Ox6A W XXXX XXXX
D 3 PDB3R 0x6C w XXXX XXXX




D 4 PDB4R | Ox6C W XXXX XXXX

D 5 PDB5R | Ox6D W XXXX XXXX

D 6 PDB6R | Ox6E W XXXX XXXX

D 7 PDB7R | Ox6F W XXXX XXXX

E PEDR 0x70 R/W | XXXX XXXX

E PECR 0x74 W xx00 xx00

E PEFR 0x75 W XXXX XXXX

E PEDDR | Ox77 W 0000 0000

E O PEBOR 0x78 W XXXX XXXX

E 1 PEBI1R 0x79 W XXXX XXXX

E 2 PEB2R | Ox7A W XXXX XXXX

E 3 PEB3R 0x7B W XXXX XXXX

E 4 PEB4R 0x7C W XXXX XXXX

E 5 PEB5R | Ox7D W XXXX XXXX

E 6 PEB6R OX7E W XXXX XXXX

E 7 PEB7R Ox7F W XXXX XXXX

1/0 0 IBOCR 0x80 w 0000 Oxxx
110 1 IB1CR 0x81 W 0000 Oxxx
1/10 2 IB2CR 0x82 w 0000 Oxxx
110 3 IB3CR 0x83 W 0000 Oxxx
110 4 IBACR 0x84 w 0000 Oxxx
110 5 IB5CR 0x85 W 0000 Oxxx
110 6 IB6CR 0x86 W 0000 Oxxx
110 7 IB7Cr 0x87 W 0000 Oxxx
0 I0CR 0x98 W xx00 0000

1 I1CR 0x99 W xx00 0000

A / TACSR | OxAO R/W | 0000 xx00

A TACR OxA2 W 0000 xx00

A 1 TATIR | OxA3 W XXXX XXXX

A 4 TAT4R | OxA9 W XXXX XXXX

A 5 TATSR OxAB W XXXX XXXX

A 6 TAT6R | OXAD W XXXX XXXX

A 7 TAT7R OxAF W XXXX XXXX

B TBCSR | 0xBO R/W | xxxx x000

B TBCR 0xB1 W xxxx 0000
BMSB1 TBM1R | OxB2 W XXXX XXXX
BLSB1 TBL1IR | OxB3 W XXXX XXXX

B MSB 2 TBM2R | OxB4 W XXXX XXXX
BLSB1 TBL2R 0xB5 W XXXX XXXX

B MSB TBCMR | OxBE R XXXX XXXX

B LSB TBCLR | OxBF R XXXX XXXX




A SADR 0xCO R/W XXXX XXXX
A SAAR 0xC1 W XXXX XXXX
A SASR 0xC3 R Oxx0 0000
A SACR 0xC4 W xx00 0000
B SBDR 0xDO R/W XXXX XXXX
B SBAR O0xD1 W XXXX XXXX
B SBSR 0xD3 R 0xx0 0000
B SBCR 0xD4 w xx00 0000
C SCDR OxEO R/W | XXXX XXXX
C SCAR OxE1l W XXXX XXXX
C SCSR OxE3 R Oxx0 0000
C SCCR OxE4 W xx00 x000
D SDDR OxFO R/W XXXX XXXX
D SDAR OxF1 W XXXX XXXX
D SDSR OxF3 R Oxx0 0000
D SDCR OxF4 W xx00 x000




